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Test Date 13/12/2023
Test Time 9:00 AM - 12:00 PM
Subject 17 Management

Comprehension:

questions that follow.
School-wise Distribution of Students Based on Marks

Scoring 95% and above Scoring between 90 - 95%
School marks(6000) marks (10000)
I;;’ i‘:’:&'ﬁ:ﬁ; Girls : Boys E::issz;gt: Girls : Boys
& 13% 11:5 16% 3.0
B 18% 5:7 6% 5 i
€ 17% B:5 10% 562
D 8% 741 28% 2:3
E 24% 5:4 21% 9.5
F 20% 5:3 19% 3.4

SubQuestion No : 1
Q.1
(1) 746
(2) 718
(3) 745
(4) 785
Options 1. 1
2.2
3.3
4.4

The following table shows the percentage (%) distribution of 12 class students scoring (i) 95%
and above marks, and (i) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above marks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the

Average numbers of boys who scored between 90 - 95% marks from the schools A - E together is :

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3ID :
Option 4 ID :

Status :

Chosen Option :

McQ
87827038287
878270150453
878270150454
878270150455
878270150456
Answered

4
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Q.2

Comprehension:

The following table shows the percentage (%) distribution of 12 class students scoring (i) 95%
and above marks, and (ii) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above marks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the
questions that follow.
School-wise Distribution of Students Based on Marks

Scoring 95% and above Scoring between 90 - 95%
Skl marks(6000) marks (10000)
I(:;l:tf::lt:ftes Girls : Boys ;e:if;;gti Girls : Boys
A 13% 115 16% 322
B 18% BT 6% 1:4
(% 17% 3:5 10% b3
D 8% 7l 28% s
E 24% 5:4 21% 0:5
F 20% 53D 19% 3:4

SubQuestion No : 2

The number of girls of school B who scored between 90 - 95 % marks is approximately

% of the number of girls of school D Who scored 95% and above marks.

1)
@)
)
#)

Options 1. 1

2.2
3.3
4.4

28.57
22.46
29.95
32.46

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
87827038285
878270150445
878270150446
878270150447
878270150448
Answered

1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/D...
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Comprehension:

questions that follow.

School-wise Distribution of Students Based on Marks

Scoring 95% and above Scoring between 90 - 95%
Skl marks(6000) marks (10000)
I(:;l:tf::lt:ftes Girls : Boys ;e:if;;gti Girls : Boys
A 13% 115 16% 322
B 18% BT 6% 1:4
(% 17% 3:5 10% b3
D 8% 7l 28% s
E 24% 5:4 21% 0:5
F 20% 53D 19% 3:4

SubQuestion No : 3

(1) 5:9
(2) 10:17
(3 10:13
(@) 12:17
Options 1. 1
2.2
3.3
4.4

The following table shows the percentage (%) distribution of 12 class students scoring (i) 95%
and above marks, and (ii) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above marks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the

Q3 What is the ratio of the number of boys of school C who scored between 90 - 95 % marks to the
number of boys who scored 95% and above marks in the same school ?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
87827038288
878270150457
878270150458
878270150459
878270150460
Answered

2
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Comprehension:

The following table shows the percentage (%) distribution of 12 class students scoring (i) 95%
and above marks, and (ii) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above marks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the
questions that follow.

School-wise Distribution of Students Based on Marks

Scoring 95% and above Scoring between 90 - 95%
Skl marks(6000) marks (10000)
I(:;l:tf::lt:ftes Girls : Boys ;e:if;;gti Girls : Boys
A 13% 115 16% 322
B 18% BT 6% 1:4
(% 17% 3:5 10% b3
D 8% 7l 28% s
E 24% 5:4 21% 0:5
F 20% 53D 19% 3:4

SubQuestion No : 4

Q.4 For school E, the difference between the numbers of boys who scored 95% and above marks and
boys who scored between 90 - 95% marks is :

(1 115
(2 120
(3) 110
(4) 105
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827038284
878270150441
878270150442
878270150443
878270150444
Answered

3
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Comprehension:

questions that follow.

School-wise Distribution of Students Based on Marks

Scoring 95% and above Scoring between 90 - 95%
Skl marks(6000) marks (10000)
I(:;l:tf::lt:ftes Girls : Boys ;e:if;;gti Girls : Boys
A 13% 115 16% 322
B 18% BT 6% 1:4
(% 17% 3:5 10% b3
D 8% 7l 28% s
E 24% 5:4 21% 0:5
F 20% 53D 19% 3:4

SubQuestion No : 5
Q.5

90 - 95 % marks.

(1) 24

(2) 26

(3) 20

(4) 22
Options 1. 1

2.2

3.3

4.4

The following table shows the percentage (%) distribution of 12 class students scoring (i) 95%
and above marks, and (ii) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above marks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the

The number of boys of schools E and F together who scored 95% and above marks is approximately
% less than the number of girls of schools B and E together who scored between

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

McQ
87827038286
878270150449
878270150450
878270150451
878270150452
Answered

2
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Q6 o i ot et siferpart T % 1 e W AT ¥ Pt fetfie - e o W A
STHM SR S 6 € 2
(1) gt e i €
(2) F® meE ke €1
(3) T WA a9
(4) T wifqerard me F |
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038309
Option 1 ID : 878270150541
Option 2 ID : 878270150542
Option 3 ID : 878270150543
Option 4 ID : 878270150544
Status : Answered
Chosen Option : 3
Q7 :
In analog media, contents are :
(1) Non-linear
(2) Linear
(3) Interactive
(4) Customised
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038300
Option 1 ID : 878270150505
Option 2 ID : 878270150506
Option 3 ID : 878270150507
Option 4 ID : 878270150508
Status : Answered
Chosen Option : 4
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Qs Which of the following propositions are so related that they cannot both be true, although they
can both be false ?
(A) No professors are materialists
(B) Some professors are materialists
(C) All professors are materialists
(D) Some professors are not materialists
Choose the correct answer from the options given below :
(1) (A)and (C) Only
(2) (B) and (D) Only
(3) (B) and (C) Only
(4) (A) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038311
Option 1 ID : 878270150549
Option 2 ID : 878270150550
Option 3 ID : 878270150551
Option 4 ID : 878270150552
Status : Answered
Chosen Option : 1
Q.9 ; ;
Identify the advantages of content analysis :
(A) It is a very transparent research method.
(B) Itis often referred to favourably as an unobtrusive method.
(C) Itis ahighly flexible method.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (A), (B) and (C)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038296
Option 1 ID : 878270150489
Option 2 ID : 878270150490
Option 3 ID : 878270150491
Option 4 ID : 878270150492
Status : Answered
Chosen Option : 4
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Q10 Which of the following statements is logically equivalent to the statement- “No professors are
materialists” ?
(1) Some non-materialists are not non-professors
(2) Some professors are non-materialists
(3)  All professors are non-materialists
(4)  All non-materialists are non-professors

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038310
Option 1 ID : 878270150545
Option 2 ID : 878270150546
Option 3 ID : 878270150547
Option 4 ID : 878270150548
Status : Answered
Chosen Option : 3
Q.11

Find the number that can replace question mark (?) in the series given below.
1:8,/2,.5; 3,%,4,9.5,1L,.6. 187

(1) 15
2 7
(3 19
(4) 8
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038306
Option 1 ID : 878270150529
Option 2 1D : 878270150530
Option 3 ID : 878270150531
Option 4 ID : 878270150532

Status : Answered

Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/D...  8/86
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Q12 In a certain code :
(a) ‘3245 means ‘you must study hard’
(b) 567" means ‘hard work pays’
(c) ‘614" means ‘work and study’
Which of the following are the codes for ‘pays’ and “work’ respectively ?
Choose the correct answer from the options given below :
1) 1&5
(2 5&6
(B) 7&6
) 4&5
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038307
Option 1 ID : 878270150533
Option 2 ID : 878270150534
Option 3 ID : 878270150535
Option 4 ID : 878270150536
Status : Answered
Chosen Option : 3
Q.13 : : :
Which of the following statements is/are true ?
(A) BIOS is an example of Application Software
(B) A utility software is an example of firmware
(C) Spyware is an example of malware
Choose the correct answer from the options given below :
(1) (A) Only
(2) (B) Only
(3) (C) Only
(4) (B) and (C) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038317
Option 1 ID : 878270150573
Option 2 ID : 878270150574
Option 3 ID : 878270150575
Option 4 ID : 878270150576
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/D...
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@ The first Indian Universities Commission (1902) was headed by :
(1) Gurudas Bannerjee
(2) Syed Hasan Bilgrami
(3) William Adam
(4) Thomas Raleigh
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038324
Option 1 ID : 878270150601
Option 2 ID : 878270150602
Option 3 ID : 878270150603
Option 4 ID : 878270150604
Status : Answered
Chosen Option : 4
Q15 o afspen e g el e 1 el wopm.  vite & wienfe foen  , SEIE Y
Y H Y S E |
(1) TEATHE
(2) wFE-Es
(3) e
(4) sl
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038299
Option 1 ID : 878270150501
Option 2 ID : 878270150502
Option 3 ID : 878270150503
Option 4 ID : 878270150504
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...
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Q16 g e fegmE:
HEAL: AT SR H G H AEE T T e g1
HY I TAEiE RN R dere 99 F 2Rvd 9 Fad Yeyn F W Hifem & v s

e |
IHEF FYA 6 Al §, 79 f{u  fwed § & wd swe 5w wif
(1) =Y 1 3R KA 11 EH1 |7 €1
(2)  oheA 1 3R e 11 SE swe ¥
(3) THeM 1WA &, Wi oM I 979 T
(4) A1 FEA T, Wfeh TweA 11 5 T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038303
Option 1 ID : 878270150517
Option 2 ID : 878270150518
Option 3 ID : 878270150519
Option 4 ID : 878270150520
Status : Answered
Chosen Option : 3
Q17 =1 < e few o €
FATL:  TEA T Feo fovatames 7T T6 F R W e
F I : 05 A F e § G5 T2k 1 e R g e 6 et F v F e o
I
THRIE FUA F A §, 79 7 T fwedt § § wd swe 59 i
(1) e 131 e 11 SH T |
(2) e 1 3R w11 36 1w ¥
(3) THeM 19T 8§ Wi e I 38 T
(4) TR 1 FEA T, TlHA HeH I TF T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038327
Option 1 ID : 878270150613
Option 2 ID : 878270150614
Option 3 ID : 878270150615
Option 4 ID : 878270150616
Status : Answered
Chosen Option : 1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...
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Statement 11 :

Q.18 Given below are two statements :
Statement 1 :

methods in promoting deep learning.
thinking and problem solving.
Both Statement I and Statement 11 are correct

Both Statement I and Statement II are incorrect

Statement I is correct but Statement II is incorrect

Teacher centred methods of teaching are more effective than learner centred
Lecture method involves the use of open-ended problems to encourage critical

In the light of the above statements, choose the most appropriate answer from the options given
below :

(4) Statement I is incorrect but Statement Il is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038291
Option 1 ID : 878270150469
Option 2 ID : 878270150470
Option 3 ID : 878270150471
Option 4 ID : 878270150472
Status : Answered
Chosen Option : 2
Q.19
4t &f1.30.€1 (CBOD) &1 qvi &9 1 &2
(1) Fwifes arkfaRe swerRieH ferrs
(2) A FETRHR TEdsH ferie
(3) HEHREY STk ST fenre
(4) FHEEE TERHERA SAEH fenis
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038320
Option 1 ID : 878270150585
Option 2 ID : 878270150586
Option 3 ID : 878270150587
Option 4 ID : 878270150588
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...
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Q.20

“To solve our transportation problems, we have to put more money into production of bicycles.
The CEO of ABCD Company limited says so. “Which of the following fallacy is committed in the
above argument ?

(1) Slippery Slope

(2) Appeal to Inappropriate Authority

(3) Ad Hominem

(4) Hasty Generalisation

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038312
Option 1 ID : 878270150553
Option 2 ID : 878270150554
Option 3 ID : 878270150555
Option 4 ID : 878270150556
Status : Answered
Chosen Option : 4
Q2 s 3 35 2 o v R T W S EES A ferae e w0 S = P A
WS I S STeRTeiedT wE S ¢ |
(A)  =EHTAE:
(B) frara ar:
(C) =g I &
(D) forespet et
= Tou T fampedl § & Wl SO R = I
() % (A), (B) 3R (Q)
@ =4 (B), (C) 3R (D)
(3) FE (A), (© 3R (D)
@ (A)(B) (© (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038295
Option 1 ID : 878270150485
Option 2 ID : 878270150486
Option 3 ID : 878270150487
Option 4 ID : 878270150488
Status : Answered
Chosen Option : 1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...
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Q.22 2 ;
The western communication concept is characterised by :

(A) Polydirectionality

(B) Unidirectionality

(C) Transfer of meaning

(D) Message centredness

(E) Flexible sequencing

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (O) and (E) Only

(3) (A), (B) and (E) Only

(4) (B, (C) and (D) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038301
Option 1 ID : 878270150509
Option 2 ID : 878270150510
Option 3 ID : 878270150511
Option 4 ID : 878270150512
Status : Answered
Chosen Option : 2
Q23 Which of the following were established during the rule of East India company in India ?
(A) St. Stephen’s College, Delhi
(B) Hislop College, Nagpur
(C) Fort William College, Calcutta
(D) Serampore College, Serampore
(E) Poona Sanskrit College, Pune
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
2 (B), (C) and (D) Only
(3)  (A), (B) and (E) Only
#) (©), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038325
Option 1 ID : 878270150605
Option 2 ID : 878270150606
Option 3 ID : 878270150607
Option 4 ID : 878270150608
Status : Answered
Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...
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Q.24 Given below are two statements :
Statement 1:  (25);, = (00100101),
Statement I1:  (00011011), = (1B),,

In the light of the above statements, choose the most appropriate answer [rom the options given
below :

(1) Both Statement I and Statement 1I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038316
Option 1 ID : 878270150569
Option 2 ID : 878270150570
Option 3 ID : 878270150571
Option 4 ID : 878270150572
Status : Answered
Chosen Option : 1
Q.25 In 1948, under whose chaipersonship a University Commission was appointed with the purpose
of reconstruction of university education to meet the demand for scientific, technical and other
manpower needed for the socio-economic development of the country ?
(1) Dr. Zakir Husain
(2) Dr. S. Radhakrishnan
(3) Dr. A.L Mudaliar
(4) Dr. DS. Kothari
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038328
Option 1 ID : 878270150617
Option 2 ID : 878270150618
Option 3 ID : 878270150619
Option 4 ID : 878270150620
Status : Answered
Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...
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Q26 frafortin 4 & for fafer & o TERTETE W wA Ffi F ¥ fow o w2 1w = E2

(1) el A AT
(2) wfeIa fauom sfsEm s
(3) =@ W urg-a7g famre 3
(4) arenfem E-Te SeT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038315
Option 1 ID : 878270150565
Option 2 ID : 878270150566
Option 3 ID : 878270150567
Option 4 ID : 878270150568
Status : Answered
Chosen Option : 2
Q.27 A policeman goes 20 meters towards South and then tums to his right and walks 40 meters. He
again turns to his left and walks 10 meters. How far is he now from his starting point ?
(1) 37.5 meters
(2) 50 meters
(3) 3042 meters
(4) 40 meters
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038308
Option 1 ID : 878270150537
Option 2 ID : 878270150538
Option 3 ID : 878270150539
Option 4 ID : 878270150540
Status : Answered
Chosen Option : 2
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Q.28 “When a pin pricks our finger we withdraw the pin”. Such kind of behaviour is termed as :
(1) Emotional Instincts
(2) Reflex Actions
(3) Biological Instincts
(4) Intellectual Instincts
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038289
Option 1 ID : 878270150461
Option 2 ID : 878270150462
Option 3 ID : 878270150463
Option 4 ID : 878270150464
Status : Answered
Chosen Option : 2
Q.29 According to Classical Indian School of logic (Nyiya) which fallacy is committed in the following
statement ?
“The sky rose is fragrant, because it is a rose like the rose on the earth”.
(1) Asadharana
() Badhita
(3) Viruddha
(4) Aédraya siddha
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038313
Option 1 ID : 878270150557
Option 2 ID : 878270150558
Option 3 ID : 878270150559
Option 4 ID : 878270150560
Status : Answered
Chosen Option : 4
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Q.30 % : i
Sl H harar = favg 8 % & FeH g ©2
(A) ¥ Fefymm qur T F STEAT F FROTE ©
(B) & Gl 7Y% T Bl &SR qe T |
(C) S = T FSRAl ST =l TR HL ST F L hT S Thad © |
(D) ¥I& TSI WTEY YOmet ® 7oE e e €
(E) ¥ 9 FT @I FI FHH FHE L
= fau o fosredi # 9 W& IO H =TT FI
(1) &= (A), (B), (C) 3R (D)
(2) % (A), (B) 3R (D)
(3) %9 (B), (C), (D) ¥R ()
(4) Fad (C), (D) IR (E)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038319
Option 1 ID : 878270150581
Option 2 ID : 878270150582
Option 3 ID : 878270150583
Option 4 ID : 878270150584
Status : Answered
Chosen Option : 2
Q.31 Which one of the following is responsible for the negative radiative forcing or cooling of the
atmosphere ?
(1) Water vapour
(2) Tropospheric Ozone
(3) Stratospheric Ozone
(4) Black carbon
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038322
Option 1 ID : 878270150593
Option 2 ID : 878270150594
Option 3 ID : 878270150595
Option 4 ID : 878270150596
Status : Answered
Chosen Option : 2
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Q.32 A woman, while introducing a man, says “His wife is the only daughter of my father”. How is that
man related to the woman ?

(1) Father in law
(2) Brother in law
(3) Husband

(4) Brother

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038305
Option 1 ID : 878270150525
Option 2 ID : 878270150526
Option 3 ID : 878270150527
Option 4 ID : 878270150528
Status : Answered
Chosen Option : 3
Q.33 ‘When two variables are related in such a way that when one increases, so does the other, you can
conclude that :
(1) There is no problem with directionality.
(2) The two variables are positively associated.
(3) There are no latent variables affecting the relationship.
(4) There is a third variable responsible for the causation between them.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038297
Option 11D : 878270150493
Option 2 ID : 878270150494
Option 3 ID : 878270150495
Option 4 ID : 878270150496
Status : Answered
Chosen Option : 2
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Q.34 Given below are two statements :
Statement I :
Statement II :

Problem based learning is a learner centred approach.

In guided discovery learning students are encouraged to construct their

understanding without the assistance of teacher guided questions and directions

In the light of the above statements, choose the most appropriate answer from the options given

below :
(1) Both Statement I and Statement 1I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038290
Option 1 ID : 878270150465
Option 2 ID : 878270150466
Option 3 ID : 878270150467
Option 4 ID : 878270150468
Status : Answered
Chosen Option : 3
Q35 Match List - I with List - IL
List- I List - II
(Committee/Commission) (Chairman)
(A) Scientific Manpower Committee (1947) (I) KL. Shrimali
(B) Committee on Higher Education in rural areas (II) S.S. Bhalnagar
(C) Committee on Model Act for universities, 1961 (III) Sunith kumar chatterji
(D) Sanskrit Commission (IV) D.S Kothari
Choose the correct answer from the options given below :
M (A1), (BR-(1), (O~(), (D)-(IV)
2 A1), B)-0), (©-(V), (D))
() (A)(I), (B)-(IV), (O)-(I), (D)}-(IN)
4 (A)-(1V), (B)-(I), (O)-(11), (D)-[O)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038326
Option 1 ID : 878270150609
Option 2 ID : 878270150610
Option 3 ID : 878270150611
Option 4 ID : 878270150612
Status : Answered
Chosen Option : 3
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Q.36 o, S 2o famnfef=i =i qerrer WYew s Wehou i THeH § ST HEE A & fod ues me e

(WEE H9) T Aed €1 frefafea § § R aem weifues sagew e ?
(1) wEEHE
(2) USHS
3)  HeEdrE
4)  gew
Options 1. 1
2.2
3.3
4.4

——

Question Type : MCQ
Question ID : 87827038292
Option 1 ID : 878270150473
Option 2 ID : 878270150474
Option 3 ID : 878270150475
Option 4 ID : 878270150476

Status : Answered

Chosen Option : 1

Q.37 Which of the following pair of acronym and its expansion are incorrectly matched ?
(1) LED - Light Emitling Diode
(2) CRT - Cathode Ray Tube
(3) LCD - Liquid Control Display
(4) VDU - Video Display Unit
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038314
Option 1 ID : 878270150561
Option 2 ID : 878270150562
Option 3 ID : 878270150563
Option 4 ID : 878270150564

Status : Answered
Chosen Option : 3
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Q.
% Identify the measures of dispersion :
(A) Range
(B) Quartile deviation
(C) Sum of the deviations about mean
(D) Standard deviation
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (©) and (D) Only
(3) (A), (B) and (D) Only
4) (A), (C) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038298
Option 1 ID : 878270150497
Option 2 ID : 878270150498
Option 3 D : 878270150499
Option 4 D : 878270150500
Status : Answered
Chosen Option : 3
Q39 wdferor gier B ST WAl & el Y EEE e
(A) o ST 3 % 3 o T ST S B
(B) =T AU FI WU T WA B
(C) o 3wl *i e & W uRtad=eirern 1 H9TeAT sl &9 4 © |
= feu U faspedi H 9 W& I N TAT B
(1) %= (A) 3R (B)
(2) 9 (B) 3R (C)
(3) % (A) 3R (C)
4 (A), (B) 3 (©)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038294
Option 1 ID : 878270150481
Option 2 ID : 878270150482
Option 3 ID : 878270150483
Option 4 ID : 878270150484
Status : Answered
Chosen Option : 2
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Q.40 e & e faw €

Chosen Option :

HUT 1 :  AHIRI TR % HRI HER SHEER &4 T
HUT I  ITUE ST FH F ST o WY HAR TEe U FHel AfHF ATl 3R wiee o7 T E
TG FA F e o, 7 T T fawed # 9wl seT =5 S
(1) e 131 wed 1 SH 5 8
(2) YA 1SR HY 1 S arEE
(3) HUA 1 HH T, il e 11 579 2
(4) HEA 1 I ¥, WAfFA HUT 11 TA T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038302
Option 1 ID : 878270150513
Option 2 ID : 878270150514
Option 3 ID : 878270150515
Option 4 ID : 878270150516
Status : Answered
Chosen Option : 1
QM rorr S i T s e ¥ gy # Frerfefiad 8 9 #F @ Fo wd $2
(A) ffem wifgar dwror sifdfera difear = =1 qom § s=9 gr wfie o srgamd o 3
(B) TrEfom wifemn % =1fEfem Hifean =1 g # =9 TN B €
(©) aifford wifem wero ffv fifea dewm %1 gomn 0 siferer gefea 2 2
= feu 7o fosredl o 9 W& ST 1 95 i
() e (A) 3R (B)
(2) e (A) $R(O)
(3) e (B) S (Q)
@ (A) @ O
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038318
Option 1 ID : 878270150577
Option 2 ID : 878270150578
Option 3 ID : 878270150579
Option 4 ID : 878270150580
Status : Answered

1
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Q42 Which DTH channel deals with social science -1, social and behavioural sciences ?
(1) Channel - 02 - Sanskriti
(2)  Chhanel - 06 - Vidhik

(3) Channel - 03 - Prabodh

(4)  Vhannel - 05 - Prabandhan
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038293
Option 1 ID : 878270150477
Option 2 ID : 878270150478
Option 3 ID : 878270150479
Option 4 ID : 878270150480

Status : Answered

Chosen Option : 3

Q.43 Given below are two statements :

Statement I1: RSPM are those suspended particulate matters (SPM) whose aerodynamic
diameter is more than 10 micron.

Statement II :  Fine particles are those SPM whose aerodynamic diameter is less than 2.5 micron.

In the light of the above statements, choose the most appropriate answer [rom the options given
below :

(1) Both Statement I and Statement 1II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038321
Option 1 ID : 878270150589
Option 2 ID : 878270150590
Option 3 ID : 878270150591
Option 4 ID : 878270150592

Status : Answered

Chosen Option : 4
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Q.44 Given below are two statements :

Statement I : Montreal protocol is a multi-lateral environmental agreement that regulates the
production and consumption of nearly 100 man made chemicals.

Statement II : Montreal protocal is an international treaty designed to protect the environment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement 1I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038323
Option 1 ID : 878270150597
Option 2 ID : 878270150598
Option 3 ID : 878270150599
Option 4 ID : 878270150600

Status : Answered
Chosen Option : 1

Q.45 Certain books are bought at prices ranging from ¥ 400 to ¥ 500 per book and are sold at prices

ranging from ¥ 500 to ¥ 700 per book. Find the greatest possible profit that might be made in selling
10 books.

(1) T 4000
(2) T 3000
(3) T 3800
(4) ¥ 7000
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 87827038304
Option 1 ID : 878270150521
Option 2 ID : 878270150522
Option 3 ID : 878270150523
Option 4 ID : 878270150524

Status : Answered

Chosen Option : 2
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Comprehension:

= fem Tenyr = ufew UE S UT nenfiE we o 39 Sty ;
TSR TR H e € 1 99 9 g TR €1 39 e W A8 Y WHER 9R-aR g9 v A 2018 o
=1 =l R HEn & T 2,967 off, o o 2022 H 3 3,167 € | e TH FEd G9 W I E : WG F
AN el Y T v A ofvedt sfem deft § e v o gagen 9 o @ dan €1 s
TS MR 77 R T T steen T Y] ©Y He- 1 ATt Temn W from weTel W iR grefen @t
ST I BIS TG T B |

AT T T AT (SEat) § Uedd Wt TE o e - i 9% U 980, THEeE W ¥
Teft i =1 It ol & TR SUR I e 15 = R SE i e 2 ¢ 4 98 5=
1 St & 1 S ek o el e (T W Al 2| AR T efvia e € foh e 1 30
T e Hifera 475 3 AT a1t T die TEd § | e, TS us SfeifTes a3 g ey fee
TR STTHET e R Wived H ST, o S ST e 1 R ST R A 9

& T T H eere e & H dsiee TR % 75 S aiie a9 3 i aftri @ wre e w5
SERTET Al G | WH, ST S W W e gia 3 ae, M SonE He | sae st |7 89 e
Hifees (W) 1 Te=H 2T 8 W Y TehAT § 1 T 12, Wl T el | S 1000 =19 9E w € 3ed
ey B STH I 9 SR 9 S | gE, S eH U ¥ 9 dea wifia | | wiia ara sfers
ST TE FeeY ¢ | STXfaT wrifafaent o %1 S1aa 9T TEH W e Al e s s § T
fardia gfte & srmaefie ot 7 H.uH. o, S o el = fewm 3 =fed | dmw, wedi & e Be
ST W 1 S AT AT € | T e (i) U S syt fewm €1 Wi T v %
g T Tou 5 =t gerest o 9 eaisA fhan st SR et Srer g W T s s 25 sl A
B T WY e e

SubQuestion No : 46

Q.46 . . 4
=Tl =Bt g | i =1 oo g
(1) =& 99 H Tk - G I AR < |
(2) TS TSI |
(3) == Tkt Wl wd el o foe S 59 S |
(4) AT 9 TE F YMeehl (F=di) i @I S |
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2D :
Option 3ID :
Option 4 ID :
Status :
Chosen Option :

McQ
87827038331
878270150625
878270150626
878270150627
878270150628
Answered

3
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Comprehension:

= fem Tenyr = ufew UE S UT nenfiE we o 39 Sty ;
TSR TR H e € 1 99 9 g TR €1 39 e W A8 Y WHER 9R-aR g9 v A 2018 o
=1 =l R HEn & T 2,967 off, o o 2022 H 3 3,167 € | e TH FEd G9 W I E : WG F
AN el Y T v A ofvedt sfem deft § e v o gagen 9 o @ dan €1 s
TS MR 77 R T T steen T Y] ©Y He- 1 ATt Temn W from weTel W iR grefen @t
ST I BIS TG T B |

AT T T AT (SEat) § Uedd Wt TE o e - i 9% U 980, THEeE W ¥
Teft i =1 It ol & TR SUR I e 15 = R SE i e 2 ¢ 4 98 5=
1 St & 1 S ek o el e (T W Al 2| AR T efvia e € foh e 1 30
T e Hifera 475 3 AT a1t T die TEd § | e, TS us SfeifTes a3 g ey fee
TR STTHET e R Wived H ST, o S ST e 1 R ST R A 9

& T T H eere e & H dsiee TR % 75 S aiie a9 3 i aftri @ wre e w5
SERTET Al G | WH, ST S W W e gia 3 ae, M SonE He | sae st |7 89 e
Hifees (W) 1 Te=H 2T 8 W Y TehAT § 1 T 12, Wl T el | S 1000 =19 9E w € 3ed
ey B STH I 9 SR 9 S | gE, S eH U ¥ 9 dea wifia | | wiia ara sfers
ST TE FeeY ¢ | STXfaT wrifafaent o %1 S1aa 9T TEH W e Al e s s § T
fardia gfte & srmaefie ot 7 H.uH. o, S o el = fewm 3 =fed | dmw, wedi & e Be
ST W 1 S AT AT € | T e (i) U S syt fewm €1 Wi T v %
g T Tou 5 =t gerest o 9 eaisA fhan st SR et Srer g W T s s 25 sl A
B T WY e e

SubQuestion No : 47

QA7 e 3 aram S 2 # 75 o s Pt § @ w-n sgvd T A e 2
(A) Hfaa SAETHl w1 SaEm S T |
(B)  @TEl ST HEA I T FAAA Tl W A T |
(C) =i g T T weAT 3 o i geraen S e |
(D) T[S S S HE= (WA T e hfEd A |
I feu Tu ol W 9 W8 SO & 99 Fif
(1) FE (A) R (B)
(2) %94 (B), (O %Ik (D)
@) = (C) 3 (D)

@ =@ (D)

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

McQ
87827038334
878270150637
878270150638
878270150639
878270150640
Answered

4
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Comprehension:

= fem Tenyr = ufew UE S UT nenfiE we o 39 Sty ;
TSR TR H e € 1 99 9 g TR €1 39 e W A8 Y WHER 9R-aR g9 v A 2018 o
=1 =l R HEn & T 2,967 off, o o 2022 H 3 3,167 € | e TH FEd G9 W I E : WG F
AN el Y T v A ofvedt sfem deft § e v o gagen 9 o @ dan €1 s
TS MR 77 R T T steen T Y] ©Y He- 1 ATt Temn W from weTel W iR grefen @t
ST 1 Be THE TE B |

AT T T AT (SEat) § Uedd Wt TE o e - i 9% U 980, THEeE W ¥
Teft i =1 It ol & TR SUR I e 15 = R SE i e 2 ¢ 4 98 5=
1 et € 1 S ek R el SHTE (T9T) W Akl 2| AR T efvia e € foh e 1 30
T e Hifera 475 3 AT a1t T die TEd § | e, TS us SfeifTes a3 g ey fee
T SITHET TEl 1 Wied Hd S, o S 6 ST e 1 SR 5T R A 2

& T T H eere e & H dsiee TR % 75 S aiie a9 3 i aftri @ wre e w5
SERTET Al G | WH, ST S W W e gia 3 ae, M SonE He | sae st |7 89 e
Hifees (W) 1 Te=H 2T 8 W Y TehAT § 1 T 12, Wl T el | S 1000 =19 9E w € 3ed
ey B STH I 9 SR 9 S | gE, S eH U ¥ 9 dea wifia | | wiia ara sfers
ST TE FeeY ¢ | STXfaT wrifafaent o %1 S1aa 9T TEH W e Al e s s § T
fardia gfte & srmaefie ot 7 H.uH. o, S o el = fewm 3 =fed | dmw, wedi & e Be
ST W 1 S AT AT € | T e (i) U S syt fewm €1 Wi T v %
ag 1 fou o =t garert o 9ie eais foran s SR et Seir 1w T s s 25 sl A
B T WY e e

SubQuestion No : 48

Q.48
“ore T Trefafaa o frges defila ww €2
(1) =i o Gafard & § =8t @4 =l
(2) WIS B ATE S EHT h
(3) WG U 9T B WER fOlEt savadRdiet &
(4) =T BT AT i B
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

McQ
87827038332
878270150629
878270150630
878270150631
878270150632
Answered

3
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Comprehension:

Read the passage and answer the questions that follow :

Project Tiger turned 50 years recently. An often repeated headline was how the numbers have
increased from 2,967 individuals in 2018 to 3,167 in 2022. This hides the bitter truth : Indians
aren’t going to compromise Western lifestyles for the survival of the Tiger. Most middle class Indians
would loathe to give up their second, investment home or driving to the hills on a multilaned
highway for the national animal.

You also can’t change the needs of a tiger - it is a large, solitary animal. A female tiger needs
about 15 square kilometres with a good prey base. If she reproduces, those cubs will require
additional space. Data shows 30% of the tigers live outside protected areas, i.e in our midst. The
more we fragment their habitat with urbanization, highways and industrial parks, the more they
will be forced into unprotected areas.

Let's modify our approach. | advocate of three results by the 75" anniversary of project
Tiger. First, instead of endlessly increasing tiger population, India can identify and achieve a metric,
not much higher than the current numbers. Remember, 1000 tigers already roam around in farms
and villages, more will be a disaster. Second, let's better protect what we have. Keeping protected
tiger habitat undisturbed is key. Investment in keeping unprotected ecosystems intact should be
financially viable and part of Corporate Social Responsibility (CSR) and more. Third, reducing
confrontation with humans is essential. Monitoring and communications technology are key to
this. Compensation for live stock killed must be rapidly assessed and pegged to market rates. For
the next quarter century, let’s think quality.

SubQuestion No : 49

Q.49 According to the writer, one of the aims of project Tiger in the next quarter century should be :
g proy 8 q y
(1) Increasing tiger population
2)  Training the tigers to live in a contained area
& 8
3 Protecting the existing tiger population
8 g hger pop
(4) Ensuring that the government stops building highways

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 2 ID :

Option 3 ID :

Option 4 ID :

Status :

Chosen Option :

McQ
87827038333
878270150633
878270150634
878270150635
878270150636
Answered

B
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Comprehension:
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TSR TR H e € 1 99 9 g TR €1 39 e W A8 Y WHER 9R-aR g9 v A 2018 o
=1 =l R HEn & T 2,967 off, o o 2022 H 3 3,167 € | e TH FEd G9 W I E : WG F
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SubQuestion No : 50

Q.50 . . : "
fTed F a4l # 9€) & G H
(1) = e @
2) ferafigg?
() TeEE
(4) YR fiRreR @l
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3ID :
Option 4 ID :
Status :
Chosen Option :

McQ
87827038330
878270150621
878270150622
878270150623
878270150624
Answered

3
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Q51 Which one of the following is correct about NPV and IRR of project (A) and project (B) ?
(1) NPV (A) + NPV (B) = NPV of (A+B)
(2) NPV (A) = NPV (B) # NPV of (A+B)
(3) IRR(A) + IRR (B) = IRR of (A+B)
(4) IRR(A) x IRR (B) # IRR(A—B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038351
Option 1 ID : 878270150705
Option 2 ID : 878270150706
Option 3 ID : 878270150707
Option 4 ID : 878270150708
Status : Answered
Chosen Option : 2
Q.52 Arrange the following components of Value-Delivery Process in proper sequence from 1° to 6™
step.
(A) Communicating the Value
(B) Enhancing the Value (including sustaining the value)
(C) Capturing the value back from the market (through pricing)
(D) Delivering the value
(E) Selecting the value (including exploring the value)
(F)  Creating the Value
Choose the correct answer from the options given below :
1) (B), E), (A), (D), (©), (B) Only
(@ . (B), (D), (B), (), (C) Only
G) (B, B, (), (D). (A), (B) Only
#)  (A) (), (E) (B), (), (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038419
Option 11D : 878270150977
Option 2 ID : 878270150978
Option 3 ID : 878270150979
Option 4 ID : 878270150980
Status : Answered
Chosen Option : 1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...

31/86



1/3/24, 9:30 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/1702549484...

4% Which of the following consists of broad model of HRM/HRD ?

(A) Hard variant of HRM (Malching Model of HRM)

(B) Soft variant of HRM (Harvard Model HRM)

(C) 5P Model of HRM (Model of strategic HRM)

(D) Business Strategic Model of HRM (Business School Model)
(1) (A) and (B) only

(2) (B) and () only

(3) (A), (B)and (C) only

(4) (B), (O) and (D) only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038379
Option 1 ID : 878270150817
Option 2 ID : 878270150818
Option 3 ID : 878270150819
Option 4 ID : 878270150820
Status : Answered
Chosen Option : 4
Q54 oy furnishing retailer company opens a new generation of furniture galleries that are part store,
part interior design studio and part restaurant’.
This is an example of which of the following ?
(1) Franchise Retailing
(2) Experiencial Retailing
(3) Departmental Store Retailing
(4) Mega Retailing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038362
Option 1 ID : 878270150749
Option 2 ID : 878270150750
Option 3 ID : 878270150751
Option 4 ID : 878270150752
Status : Answered
Chosen Option : 4
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4% Which of the following related to Combined Leverage (CL)
Contribution
(L= ———
(A) PBT
EBIT
By CL=——
(B) PBT
Contribution
CL=—
(©) EBT
CL = % Change in EPS
(D) % Change in sales
(E) CL = Operating leverage X Financial leverage
Choose the correct answer from the options given below :
(1) (A), (B) and (E) only
(2) (B), (©) and (E) only
(3) (A), (D) and (E) only
4) (A), (B) and (C) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038382
Option 1 ID : 878270150829
Option 2 ID : 878270150830
Option 3 ID : 878270150831
Option 4 ID : 878270150832
Status : Answered
Chosen Option : 3
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Q.56 As per Ries and Trout, which one of the following is NOT a standerd criteria for successful
positioning ?

0]
()
3)
4)
Options 1. 1
2.2
3.3

4.4

Competitiveness
Consistency
Credibility
Commitment

McQ
87827038356
878270150725
878270150726
Option 3 ID : 878270150727
Option 4 ID : 878270150728
Status : Answered
Chosen Option : 4

Question Type :
Question ID :
Option 11D :
Option 21D :

Q.57

(&)
(B)
©
(D)

Match List - I with List - I1.

List - I

Accounting Standard
Ind AS-1

Ind AS-7

Ind AS - 16

Ind AS - 18

@
(1N
(1)
(1v)

List - IT

Related Concept

Cash Flow Statement

Presentation of Financial Statement
Revenue recognition

Property Plant and Equipment

Choose the correct answer from the options given below :
(A)-(D), (B)-(II), (O)-(II), (D)-(IV)
(A1), (B)-(D), (O)-(1V), (D)-(IL)
(A)-(1D), (B)-(I), (O)-(II), (D)-(IV)
(A)-(D), (B)-(II), (C)-(IV), (D)-(LII)

(M
(2
3)
(4)
Options 1. 1
2.2
3.3
4.4

MCQ
87827038403
878270150913
878270150914
Option 3 ID : 878270150915
Option 4 ID : 878270150916
Status : Answered
Chosen Option : 2

Question Type :
Question ID :
Option 11D :
Option 21D :
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Q.58 z : i
Six Sigma is :
(A) a strategy that focuses on total customer satisfaction.
(B) a mathematical function that connects quality lost and cost.
(C) aprogram to reduce defects.
(D) a disciplines that follows DMAIC model.
Choose the correct answer from the options given below :
(1) (A) and (D) Only
(2) (B) and (C) Only
() (A), (C) and (D) Only
(4) (B), (C) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038392
Option 1 ID : 878270150869
Option 2 ID : 878270150870
Option 3 ID : 878270150871
Option 4 ID : 878270150872
Status : Answered
Chosen Option : 3
Q.59
Match List - I with List - IL
List - 1 List - II
Theory/Approach Proponders
(A) Operational Management (I)  Mekinsey
(B) Behavioral Approach (II)  Wilfredo Pareto
(C) Social Systems Approach () Henri Fayal
(D) 7-S Approach (IV) Elton Mayo
Choose the correct answer from the options given below :
(1) {A)-{IH) (B)-(1D), (O)-(IV), (D)-(D)
(2 (AL, (B)-(II), (O)-(Im), (D)-(IV)
(3)  (A)-(I), (B)-(IV), (C)-(II), (D)-(I)
4 (AAD, (B-(IV), (C)-(II), (D)-(IT)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038400
Option 1 ID : 878270150901
Option 2 ID : 878270150902
Option 3 ID : 878270150903
Option 4 ID : 878270150904
Status : Answered
Chosen Option : 3
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Q.60 frefafaa & #r-91 & fiewent % STTaR/ErEf % TR F1 ST = 97 T 82
(1) =IfEE o
(@) eyt o
(3) G TUEifa
(4)  SETET TG
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038355
Option 1 ID : 878270150721
Option 2 ID : 878270150722
Option 3 ID : 878270150723
Option 4 ID : 878270150724
Status : Answered
Chosen Option : 2
Q.61 2 y ) :
Who is known as the ‘Father of brainstorming ?
(1) Alex F. Osborn
(2) Frank Gilbreeth
(3) Elton Mayo
(4) Peter Drucker
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038336
Option 1 ID : 878270150645
Option 2 ID : 878270150646
Option 3 ID : 878270150647
Option 4 ID : 878270150648
Status : Answered
Chosen Option : 2
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Q.62 Given below are two statements :

Statement (I) : Organisation Development Interventions are sets structured activities in which
selected organisational units engage in a sequence of tasks that will lead to
organisational improvement.

Statement (II) : The range of Organisation Development interventions is quite extensive.
Interventions have been developed to solve most problems related to the human
side of organisations.

In the light of the above statements, choose the most appropriate answer [rom the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement 1I are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038421
Option 1 ID : 878270150985
Option 2 ID : 878270150986
Option 3 ID : 878270150987
Option 4 ID : 878270150988
Status : Answered
Chosen Option : 1
Q.63

Which of the following assumptions are based on Walter’s Model of dividend ?
(A) Internal Financing

(B) 100 percent pay out ratio

(C) The firm has a short term life

(D) Constant EPS and dividend per Share (DIV)

(E) Increasing return and minimise cost of Capital
Choose the correct answer from the options given below :
()  (A), (B) and (C) Only

(2)  (A), (C) and (D) Only

(3 (B), (D) and (E) Only

(4)  (A), (B) and (D) Only

Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827038385
Option 1 ID : 878270150841
Option 2 ID : 878270150842
Option 3 ID : 878270150843
Option 4 ID : 878270150844

Status : Answered

Chosen Option : 2
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Q.64 ‘A channel structure in which producers, wholesalers, and retailers act as a unified system. One
channel member owns the others, has contracts with them or has so much power that they all
cooperate.” ?

The above description pentains to which of the following concepts ?
(1) Conventional Distribution Channel

(2) Vertical Marketing System

(3) Franchise System

(4) Horizontal Marketing System

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038361
Option 1 ID : 878270150745
Option 2 ID : 878270150746
Option 3 ID : 878270150747
Option 4 ID : 878270150748

Status : Answered
Chosen Option : 1

Q.65  pfapch List - T with List - IL.

List - I List - II
Data Warehouse Types Concept Functions Meaning of Data Ware Houses
(A) Data Marts ()  Provides afairly recent form of customer information
file and is used as interim staging area.
(B) Operational Data Store (I) Provides integration of data from many sources into
a standard format.
(C) Enterprise Data Warehouse (Ill) Describe the structure and some meaning about data
(D) Metadata (IV) Subset of a data warehouse, typically consisting of a

single subject area
Choose the correct answer from the options given below :

(1) (A)-(IV), (B)(T), (C)-(II), (D)-(II)
@) (A)-IV). (B)-(I), (C)-(1), (D)-(11)
(3) (A1), (BRIV), (C)-(II), (D)-(II)
(@) (A)-(In, (B)-II), (©)-[), (D)-aV)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038408
Option 1 ID : 878270150933
Option 2 ID : 878270150934
Option 3 ID : 878270150935
Option 4 ID : 878270150936

Status : Answered

Chosen Option : 3
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Q.66 Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : A brand is an important corporate resource.
Reason (R) : A brand embodies all of the characteristics of a company’s product in the mind

of the consumer.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038423
Option 1 ID : 878270150993
Option 2 ID : 878270150994
Option 3 ID : 878270150995
Option 4 ID : 878270150996
Status : Answered
Chosen Option : 1
Q.67

Arrange the Project Life Cycle Phases in proper order :
(A) Concept Phase

(B) Planning and Organising Phase

(C) Definition Phase

(D) Implementation Phase

(E) Project Clean-up Phase

Choose the correct answer from the options given below :
(1) (A), (), (B), (D), () Only

@ (A), (B), (O), (D), (E) Only

(3) Q). (A), (B), (D), (E) Only

4 (A), (D), (©), (B), (E) Only

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827038417
Option 1 ID : 878270150969
Option 2 ID : 878270150970
Option 3 ID : 878270150971
Option 4 ID : 878270150972

Status : Answered

Chosen Option : 2
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Q.68

(A)
(B)
(©
(D)
(E)

Fretfefaa 8 & $i9-4 HRo safgl & qa1 it we mgfawar o afiefem @ & 2

wifEd

g1 % Hqod | gfg Eri
sifere =t srffeeea
IR T e
a9 & st

e e T ferehedi # 4 TeE S0ed Il =EH HE

(1) aE (A), (B) 3 (C) Only
(2) %ad (B), (C) 3R (D) Only
(3) A (A), (O), (D) 3R (E) Only
(4) EE (A), (D) 3R (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038384
Option 1 ID : 878270150837
Option 2 ID : 878270150838
Option 3 ID : 878270150839
Option 4 ID : 878270150840
Status : Answered
Chosen Option : 2
Q.69 ; . e o
Who argued that ‘Attitude follow behavior® ?
(1) Leon Festinger
(2) Elton Mayo
(3) Mary P. Follet
(4) F. Herzberg
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038339
Option 1 ID : 878270150657
Option 2 ID : 878270150658
Option 3 ID : 878270150659
Option 4 ID : 878270150660
Status : Answered
Chosen Option : 2
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Q.70 The variety of approaches to management analysis, the amount of research and the number of
different views have resulted in much confusion as to what management is, what management
theory and science is and how managerial events should be analysed. Who called this situation
‘the management theory jungle’ ?

(1) Chester Barnard
(2) Elton Mayo

(3) Harold Koontz
(4) Henry L. Gantt

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038335
Option 1 ID : 878270150641
Option 2 ID : 878270150642
Option 3 ID : 878270150643
Option 4 ID : 878270150644
Status : Answered
Chosen Option : 3
Q.71 < : ; ; . ;
Which of the following strategies are types of combination strategies ?
(A) No change strategies
(B) Pause/Proceed with caution strategies
(C) Term around strategies
(D) Profit strategies
(E) Concentration strategies
(1) (B) and (C) Only
(2) (B) and (D) Only
(3) (A)and (B) Only
(4) None of the above
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038386
Option 1 ID : 878270150845
Option 2 ID : 878270150846
Option 3 ID : 878270150847
Option 4 ID : 878270150848
Status : Answered
Chosen Option : 2
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Q72 e Contingency table in statistics is one :
(1) That consists of rows and columns that is used to classify data on two dimensions.

of each class.

classes.
(4) That displays points representing each class frequency above their class midpoints.

(2) That summarizes the number of measurements which are less than the upper-class boundary

(3) That summarizes the percentage of items (or measurement) in each of several non-overlapping

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038363
Option 1 ID : 878270150753
Option 2 ID : 878270150754
Option 3 ID : 878270150755
Option 4 ID : 878270150756
Status : Answered
Chosen Option : 1
Q73 After 10 years of deadlock, European Union (EU) is ready to negotiate with India in WTO on
which issue related to food security ?
(1)  Public Stockholding Norms
(2) Climate Change
(3) Non-tariff barriers to trade
(4) Sanitary & Phytosanitary measures
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038369
Option 1 ID : 878270150777
Option 2 ID : 878270150778
Option 3 ID : 878270150779
Option 4 ID : 878270150780
Status : Answered
Chosen Option : 4
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Q.74 What represents basic convictions that ‘a specific mode of conduct or end-state of existence is
personally or socially preferable to an opposite or converse mode of conduct or end-state of
existence’ ?
(1) Ethics
(2) Belief
(3) Values
(4) Personality
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038340
Option 1 ID : 878270150661
Option 2 ID : 878270150662
Option 3 ID : 878270150663
Option 4 ID : 878270150664
Status : Answered
Chosen Option : 3
Q75 Which of the following are the important principles of Re-engineering according to Michael
Hammer ?
(A) Develop value added jobs to balance out job elimination.
(B) Take specific actions to make the program operational.
(C) Subsume information processing work into the real work that produces the information.
(D) Develop action plan of activities needed to achieve the objectives.
(E) Treat geographically dispersed resources as though they were centralised.
Choose the correct answer from the options given below :
(1) (A)and () Only
(2)  (B) and (D) Only
(3) (©) and (E) Only
(4)  (B) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038387
Option 1 ID : 878270150849
Option 2 ID : 878270150850
Option 3 ID : 878270150851
Option 4 ID : 878270150852
Status : Answered
Chosen Option : 2
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are Fixing the zero date is important step in establishing a project -
(1) Priliminary steps
(2) Secondary steps
(3) Definition steps
(4) Last steps
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038374
Option 1 ID : 878270150797
Option 2 ID : 878270150798
Option 3 ID : 878270150799
Option 4 ID : 878270150800
Status : Answered
Chosen Option : 1
Q77 Arrange the following steps of the Budgeting process in the proper sequence :
(A) Obtaining estimates
(B) Communicating Budget
(C) Reporting Interim Progress towards budget objectives
(D) Implementing the budget plan
(E) Co-ordinating estimate
Choose the correct answer from the options given below :
(1) () (A), (B), (D), (©) Only
2) (&), (B), (), (B), (D) Only
() (A), (B), (B), (O), (D) Only
(4)  (A), (B), (B), (D), (©) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038413
Option 1 ID : 878270150953
Option 2 ID : 878270150954
Option 3 ID : 878270150955
Option 4 ID : 878270150956
Status : Answered
Chosen Option : 4
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Q.78 Given below are two statements :

Statement (I) : Economic exposure refers to the change in the value of firm caused by unexpected
changes in the exchange rate.

Statement (II) : Transaction exposure refers to long term cash flow exposure.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement 1I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038422
Option 1 ID : 878270150989
Option 2 ID : 878270150990
Option 3 ID : 878270150991
Option 4 ID : 878270150992
Status : Answered
Chosen Option : 1
Q.79

Which of the following are the main issues to be tackled by the conceptual component of Customer
Relationship Management Programme ?

(A) Processing all customer requests coming in through multiple channels.
(B) Setting out the CRM objectives in clear terms,

(C) Creating a good product and mass marketing it.

(D) Putting customers first.

(E) Segmenting the market on the basis of occupations.

Choose the correct answer from the options given below :

(1) (B) and (D) Only

(2) (A) and (E) Only

(3) (Q) and (D) Only

) (D) and (E) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038389
Option 1 ID : 878270150857
Option 2 ID : 878270150858
Option 3 ID : 878270150859
Option 4 ID : 878270150860

Status : Answered

Chosen Option : 2
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Q80 which is the value of P/V Ratio ?
Period I Period II
Sales (Rs.) 700000 900000
Profit (Rs.) -10000 10000
1) 10%
@ 20%
B) 30%
4) 25%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038348
Option 1 ID : 878270150693
Option 2 ID : 878270150694
Option 3 ID : 878270150695
Option 4 ID : 878270150696
Status : Answered
Chosen Option : 3
Q.81 : ; ; : i
Which of the following are cash from financing activities of ?
(A) Cash receipt from issue of share
(B) Cash payment for buy-back of share
(C) Brokerage paid for acquisition of fixed assets
(D) Payment of cash dividend
(E) Cash receipt of interest and dividend on Long-term investment
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only
(2) (A), (C) and (D) only
(3) (B), (C) and (D) only
(4) (A), (B) and (D) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038381
Option 1 ID : 878270150825
Option 2 ID : 878270150826
Option 3 ID : 878270150827
Option 4 ID : 878270150828
Status : Answered
Chosen Option : 2
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Q82 RIS 3 TR SAfaa fash &g marie fomm % =) = ffafea § #E-30 22
(A) e
B) T
(©) dfew
(D) AfrETEYA
(B) ST
Choose the correct answer from the options given below :
(1) & (A), (B), (O), (D)
(2) =@ (A), (B), (O) (B)
(@) = (), (), (D), ()
) =& (A), (©), (D), (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038378
Option 1 ID : 878270150813
Option 2 ID : 878270150814
Option 3 ID : 878270150815
Option 4 ID : 878270150816
Status : Answered
Chosen Option : 2
Q.83 “Demonstrating statistically a relationship between scores on a selection procedure and job
performance of a sample of workers” is called :
(1) Content Validity
(2) Construct Validity
(3) Criterion Validity
(4)  Test Validity
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038341
Option 1 ID : 878270150665
Option 2 ID : 878270150666
Option 3 ID : 878270150667
Option 4 ID : 878270150668
Status : Answered
Chosen Option : 3
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Q84 Gross working capital refers to firms :
(1) Total Current Assets
(2) The difference between current assets and current liabilities.
(3) Total liquid assets
(4) Total investment in the firms
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038354
Option 1 ID : 878270150717
Option 2 ID : 878270150718
Option 3 ID : 878270150719
Option 4 ID : 878270150720
Status : Answered
Chosen Option : 2
Q85 3 feufert e sita shfral 1 ferdell # Sereet ohre et e el @ ol i ey 31 vdan s
TS YT B W § 2
(A) o Tagsh e @ew | W € €
(B) < TGSl SR Fansii 1 SRy uftawd TN Fgd St wel ¥
(C) o Hufail § =R &mar 1 ST Bt 7
(D) = TR fome eeEl & s = e w9
() v foge # woie susie w1 w9 3 fow semel &I Senedt # s ' 9 ot w5 a6
SR Tel Bl |
= fa T foeRedl § F weE AR ST T Y
(1) FE (A), (B) (D)
(@ %= (8), (C) (D)
() &= (C), (D) 3R (E)
(&) ¥ (B), (A) 2 (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038394
Option 1 ID : 878270150877
Option 2 ID : 878270150878
Option 3 ID : 878270150879
Option 4 ID : 878270150880
Status : Answered
Chosen Option : 2
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Q.86
Who has authored the book “the Third Wave” ?
(1) Hammel and Prahlad
(2) Toffler
(3) Aldrich
(4) Nilkant and Ram Narayan
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038346
Option 1 ID : 878270150685
Option 2 ID : 878270150686
Option 3 ID : 878270150687
Option 4 ID : 878270150688
Status : Answered
Chosen Option : 1
Q.87 To support Indian Artificial Intelligence (Al) Startups, which technological infrastructure is expected
to be developed by Government of India ?
(1) Creation of EPZ
(2) Creation of GPU Clusters
(3) Creation of SPZ Clusters
(4) Creation of IT Parks
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038368
Option 1 ID : 878270150773
Option 2 ID : 878270150774
Option 3 ID : 878270150775
Option 4 ID : 878270150776
Status : Answered
Chosen Option : 4
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Q88 1) which institutions of women entrepreneurship Jyoti Jeevan Naik was associated ?

Chosen Option :

(1)  Shri Mahila Griha Udyog Lijjat Papad
(2) Sahkari Mahila Gram Samittee
(3) Jivika
(4) Self-employed Women's Association
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038372
Option 1 ID : 878270150789
Option 2 ID : 878270150790
Option 3 ID : 878270150791
Option 4 ID : 878270150792
Status : Answered
Chosen Option : 3
Q.89 In the case of an Executive Chairman, what is the minimum percentage of Independent Directors
required on the Board ?
(1) At least one-third
(2) At least half
(3) At least one-fourth
(4) At least two-thirds
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038337
Option 11D : 878270150649
Option 2 ID : 878270150650
Option 3 ID : 878270150651
Option 4 ID : 878270150652
Status : Answered

1
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Q.90 ‘Making the brand a meaningful part of consumers conversations and likes by fostering direct and
continuous customer involvement in shaping brand conversations, experiencies and community’.
The above description pertains to which of the following concepts ?
(1) Customer Generated Marketing
(2) Secietal Marketing Concept
(3) Customer Relationship Management
(4) Customer Engagement Marketing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038360
Option 1 ID : 878270150741
Option 2 ID : 878270150742
Option 3 ID : 878270150743
Option 4 ID : 878270150744
Status : Answered
Chosen Option : 3
Q.91 What should be the maximum size of numbers of representatives in the Joint Management
12} 8
Council ?
(1) Sixonly
(2) Twelve only
(3) Sixteen only
(4) Twenty only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038344
Option 1 ID : 878270150677
Option 2 ID : 878270150678
Option 3 ID : 878270150679
Option 4 ID : 878270150680
Status : Answered
Chosen Option : 3
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Q.92 Likert had proposed only six dimensions of organisational climate. Who proposed seven steps of
organisational climate ?

(1) Litwin and Stringer
(2) Schein
(3) Kluckhohn and strodtbeck
(4) Hofstede
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038342
Option 1 ID : 878270150669
Option 2 ID : 878270150670
Option 3 ID : 878270150671
Option 4 ID : 878270150672
Status : Answered
Chosen Option : 4
Q93 “Iynovation is the specific instruments of entrepreneurship-the act that endows resources with a
new capacity to create wealth” who said this ?
(1) Peter Drucker
(2) J. A. Shumpeter
(3) Frank H. Knight
(4) Frank W. Young
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038371
Option 11D : 878270150785
Option 2 ID : 878270150786
Option 3 ID : 878270150787
Option 4 ID : 878270150788
Status : Answered
Chosen Option : 4
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Q.94 Which type of Intrapreneur is known for generating innovative ideas and seeking ways to improve
processes ?

(1) Employee Intrapreneur

(2) Doers Intrapreneur

(3) Creator Intrapreneur

(4) Implementers Intrapreneur
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038373
Option 1 ID : 878270150793
Option 2 ID : 878270150794
Option 3 ID : 878270150795
Option 4 ID : 878270150796
Status : Answered
Chosen Option : 3

Q.95 Put in sequence the four steps to convert the raw real-world data into minable data sets :
(A) Data Cleaning
(B) Data Reduction
(C) Data Transformation
(D) Data Consolidation
Choose the correct answer from the options given below
(1) (B), (&), (O), (D) Only
(2) (D), (A), (), (B) Only
(3)  (A), (D), (O), (B) Only
(4) (B), (C), (A), (D) Only
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038416
Option 1 ID : 878270150965
Option 2 ID : 878270150966
Option 3 ID : 878270150967
Option 4 ID : 878270150968
Status : Answered
Chosen Option : 1
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Q9 Match List - I with List - 1.

List - I List - I1
Name of Theories of Entrepreneurship Proponder

(A) Theory of Opportunities (I) Frank W. Young
and Innovation.

(B) Theory of Charge. (II)  Peter F. Drucker

(C) Theory of Religious Beliefs. (I1I) John H. Kunkel

(D) Theory of Entrepreneurship (IV) Max Weber
Supply.

Choose the correct answer from the options given below :

(1) (A1), B, (O-1V), (D))

@ (A)-1), (B-(), (Q)-), (D)-V)

(3)  (A)-IV), (BI{IW), (1D, (D)-()

@) (A1, B, ©-), (D)-aV)

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038409
Option 1 ID : 878270150937
Option 2 ID : 878270150938
Option 3 ID : 878270150939
Option 4 ID : 878270150940
Status : Answered
Chosen Option : 3

Q.97 Arrange the following process of working capital cycle of manufacturing concern in a proper
sequence :
(A) Raw material
(B) Cash
(C) Debtars
(D) Finish goods
(E) Work in progress
Choose the correct answer from the options given below :
() @), (A), (B), (D), () Only
@  (A), ©), (B), (), (D) Only
() (A), (B), (D), (B), (C) Only
@ (A, (B), (D), (©) (B) Only

Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827038414
Option 1 ID : 878270150957
Option 2 ID : 878270150958
Option 3 ID : 878270150959
Option 4 ID : 878270150960
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...

54/86



1/3/24, 9:30 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/1702549484...

Chosen Option :

Q98 Which of the followings are the national financial institutions ?
(A) Industrial Development Bank of India
(B) Industrial Finance Corporation of India
(C) The State Industrial Development Corporation
(D) United Nations Development Programme
(E) State Financial Corporations.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (), (C) and (D) Only
(3) (A), (B), (C) and (E) Only
(4) (), (O), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038396
Option 1 ID : 878270150885
Option 2 ID : 878270150886
Option 3 ID : 878270150887
Option 4 ID : 878270150888
Status : Answered
Chosen Option : 1
Q.99 Which of the following summarised under three Cs for human resource development ?
(A) Competence
(B) Communication
(C©) Commitment
(D) Culture
(1) (A), (B) and (C) only
(2)  (A), (©) and (D) only
(3  (B), (©) and (D) only
4)  (A), (B) and (D) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038380
Option 1 ID : 878270150821
Option 2 ID : 878270150822
Option 3 ID : 878270150823
Option 4 ID : 878270150824
Status : Answered

1
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Q.100 Given below are two statements :

Statement (I) : The adaptation of leadership styles to different contingencies has been well
characterised by Robert Tannenbaum and Warren H. Schmidt, developers of
leadership continuum concept.

Statement (II) : They see leadership as involving variety of styles, ranging from one that is highly
boss-oriented to one that is highly subordinate centered.

In the light of the above statements, choose the most appropriate answer [rom the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement II is correct
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038399
Option 1 ID : 878270150897
Option 2 ID : 878270150898
Option 3 ID : 878270150899
Option 4 ID : 878270150900

Status : Answered

Chosen Option : 1

Q101 Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The failure of the international market to connect firms as collaborators will entice
a company to enter with wholly owned operations or wholly owned FDL

Reason (R) : The company perceives having operating advantages to overcome its liability of
foreignness.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038424
Option 1 ID : 878270150997
Option 2 ID : 878270150998
Option 3 ID : 878270150999
Option 4 ID : 878270151000

Status : Answered

Chosen Option : 2
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Q.102 Company’s current price of share is Rs 60 and dividend per share is Rs. 4. If its capitalisation rate
is 12 percents. What is dividend growth rate 7

(1) 10%
(2) 20%
(3) 3.2%
4) 5%
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 87827038353
Option 1 ID : 878270150713
Option 2 ID : 878270150714
Option 3 ID : 878270150715
Option 4 ID : 878270150716
Status : Answered
Chosen Option : 2

Q103 pratch List - T with List - I0.

List - I List - II
Tools Proposed by
(A) Balance Score Card () Heing weitrich
(B) TOWS Matrix (I C.W. Hofer
(C) Product/Market Evolution Matrix (II) Roberts Kaplan and David P. Norton
(D) VRIO Frame Work (IV) Jay Barney

Choose the correct answer from the options given below :
(1) (A, (B)-@), (O-(IV), (D))

(2) (A=), (B)-(I), (O-(I), (D)-(IV)

(3) (A1), (B)-(I), (C)-(IV), (D)-(I)

(@) (AHIV), (B)-(ID), (CO)-(), (D)-(T)

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038405
Option 1 ID : 878270150921
Option 2 ID : 878270150922
Option 3 ID : 878270150923
Option 4 ID : 878270150924

Status : Answered

Chosen Option : 1
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Q104 rrarerres soerer Geish e & 21 frid % wrg=a e & - RN S HE | S A
H gftafem % :
(A) FENEERTT SR
(B) Hfera a1gsHe
(C)  wemsfiga wfomy
(D) ISR STferTe
(E) gd siferm
2 fe o faeredi # # wad Suge I H T fHER
(1) ¥\ (4), (B) 3 (©Q)
(2) = (A), (B) 3 (D)
(3) = (B), (O) R ()
(4) %= (B), (C) 3R (D)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038376
Option 1 ID : 878270150805
Option 2 ID : 878270150806
Option 3 ID : 878270150807
Option 4 ID : 878270150808
Status : Answered
Chosen Option : 1
Q105 wyich of the following statements are correct about International Trade Theories ?
(A)  According to mercantilism, countries should import more than they export.
(B) A country that practices neo-mercantilism attempts to run, export surplus to achieve a social
or political objective.
(C) Theory of absolute advantage reasoned that restricted trade would lead country to specialize
in those products that gave it a competitive advantage.
(D)  According to theory of comparative advantage gains from trade will occur even in a country
that has absolute advantage in all products because the country must give up less efficient
output to produce more efficient output.
Choose the correct answer from the options given below :
(1) (A) and (C) Only
(2 (B) and (C) Only
(3) (C) and (D) Only
(4) (B) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038395
Option 1 ID : 878270150881
Option 2 ID : 878270150882
Option 3 ID : 878270150883
Option 4 ID : 878270150884
Status : Answered
Chosen Option : 4
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Q.106 For making a single-channel, single-phase queuing models, which of the following assumption are

involved -

(A) Every arrival waits to be served regardless of the length of the time.

(B)  Arrival are independent of preceding arrivals, but the average number of arrivals does
not change over time.

(C)  Arrival come from a finite or very small population on LIFO basis

(D) Service times follow the negative expantial distribution or are constant.

(E) The average service rate is greater than the average arrival rate.

Choose the correct answer from the options given below :

() (A), (B) and (C) Only

@ (A), (B), (O and (D) Only

(@) (A), (), (D) and (E) Only

) (B (C), (D) and (E) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038393
Option 1 ID : 878270150873
Option 2 ID : 878270150874
Option 3 ID : 878270150875
Option 4 ID : 878270150876
Status : Answered
Chosen Option : 4

Q.107 Arrange the following stages of international development in sequential ascending order.
(A) Primarily domestic company with international division
(B) Domestic company
(C) Multinational corporation with global emphasis
(D) Multinational corporation with multidomestic emphasis
(E) Domestic company with export division
Choose the correct answer from the options given below :

1) (®, (B), ©, (A), (D) Only
@  (B), (E), (A), (D), (€) Only
@) B), (), (A), (C), (D) Only
4 (B), (A), (B), (D), (©) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038415
Option 1 ID : 878270150961
Option 2 ID : 878270150962
Option 3 ID : 878270150963
Option 4 ID : 878270150964

Status : Answered

Chosen Option : 2
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Q108 yyhat is the major assumption we make when computing a mean form Grouped data :
(1)  All values are discrete.
(2) Every value in a class is equal to the midpoint.
(3) Each class contains exactly the same number of values.
(4) No value occurs more than once.

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038365
Option 1 ID : 878270150761
Option 2 ID : 878270150762
Option 3 ID : 878270150763
Option 4 ID : 878270150764
Status : Answered
Chosen Option : 3
Q109 case of financial enterprises, cash flow arisen from flow dividend received and paid is shown in
cash statement under-which one of the following activities ?
(1) Operating Activities.
(2) Financing Activities.
(3) Investing Activities.
(4) Dividend received is operating activities and divided paid is financing activities.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038350
Option 11D : 878270150701
Option 2 ID : 878270150702
Option 3 ID : 878270150703
Option 4 ID : 878270150704
Status : Answered
Chosen Option : 4
Q.110 Performance appraisal too often degenerates into a dishonest annual rituals,” who stated this ?
(1) Armstrong and Murlis
(2) Newton and Findlay
(3) Barlow
(4) Grint
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038345
Option 1 ID : 878270150681
Option 2 ID : 878270150682
Option 3 ID : 878270150683
Option 4 ID : 878270150684
Status : Answered
Chosen Option : 1
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QM1 Which one of the following is characterised in the interest rate parity ?

(1) The exchange rate between the currencies of two countries equal the ratio between the price
of goods in these countries.
(2) The forward rate must be equal to the expected future spot rate.
(3) Nominal interest rate differential must be equal to the expected inflation rate differential in
the two countries.
(4) The relationship between interest rates and exchange rate of two countries.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038352
Option 1 ID : 878270150709
Option 2 ID : 878270150710
Option 3 ID : 878270150711
Option 4 ID : 878270150712
Status : Answered
Chosen Option : 4
QM2 what shall be the transportation cost if a researcher uses North-West Corner Rule to get the basic
feasible solution to the following :
Distribution Centers
Sources D1 D2 D3 D4 Supply
s1 2 g 1 7 6
52 1 0 6 g’ 1
53 5 8 15 9 10
Requirmens 7 5 3 2
m 112
(2) 102
(3) 105
(4) 116
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038366
Option 1 ID : 878270150765
Option 2 ID : 878270150766
Option 3 ID : 878270150767
Option 4 ID : 878270150768
Status : Answered
Chosen Option : 4
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Q.113
What is NOT a misuse of committees ?
(A) Authority
(B) Membership
(C) Replacement for a manager
(D) For decisions beyond participants authority
(1) (C) and (D) only
(2) (A) and (B) only
(3) (C) and (A) only
4) (A) and (D) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038375
Option 1 ID : 878270150801
Option 2 ID : 878270150802
Option 3 ID : 878270150803
Option 4 ID : 878270150804
Status : Answered
Chosen Option : 2
Q.14 Arrange the Indian Trade Unions/Associations according to their formation/establishment from
erlier to latter.
(A) Madras Labour Union
(B) Bhartiva Mazdoor Sangh
(C) The Indian National Trade Union Congress
(D) All India Trade Union Congress
(E) The Red Trade Union Congress
Choose the correct answer from the options given below :
(1) (A). (©), (B), (D), (E) Only
(2)  (A), (D), (E), (©), (B) Only
(3)  (B). (A), (C), (D), (E) Only
@) (D), (A), (B). (C), (B) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038412
Option 1 ID : 878270150949
Option 2 ID : 878270150950
Option 3 ID : 878270150951
Option 4 ID : 878270150952
Status : Answered
Chosen Option : 3
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Q.
1 Which one of the fD]lnwing is correct Accounting Equation ?
(1) Assets = Liabilities — Capital
(2) Capital = Assets + Liabilities
(3) Liabilities = Capital + Assels
(4) Liabilities = Assets — Capital
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038347
Option 1 ID : 878270150689
Option 2 ID : 878270150690
Option 3 ID : 878270150691
Option 4 ID : 878270150692
Status : Answered
Chosen Option : 4
Q.116 2 s ;
The techniques for appraising performance include :
(A) Graphic Rating Scale Method
(B) Potential Rating
(C) Alternation Ranking Method
(D) Diversity Counts
(E) Paired Comparison Method
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(@) (B), () and (D) only
(3) (©), (D) and (E) only
(4) (A), (C) and (E) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038377
Option 1 ID : 878270150809
Option 2 ID : 878270150810
Option 3 ID : 878270150811
Option 4 ID : 878270150812
Status : Answered
Chosen Option : 4
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QM7 \Which of the following are methods of assessment of economic viability of the project ?
(A) Pay Back Period (PBP)
(B) Return on Investment (ROI)
(C) Net Present Value (NPV)
(D) Benefit cost Ratio (BCR)
(E) Critical Path Method (CPM)
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
@ (A), (B), (C) and (D) Only
() (B), (O, (D) and (E) Only
4  (A) (©), (D) and (E) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038398
Option 1 ID : 878270150893
Option 2 ID : 878270150894
Option 3 ID : 878270150895
Option 4 ID : 878270150896
Status : Answered
Chosen Option : 3
Q.118 There exists certain requirements for effective control. Arrange the requirements from later to
initial as proposed by Koontz and Weihrich.
(A) Tailoring controls to individual managers.
(B) Fitting the control system to the organisational culture.
(C) Making sure that control point up exceptions at critical point.
(D) Seeking objectivity of controls.
Choose the correct answer from the options given below :
M (B), (A), (©), (D)
2 (B, Q) (D) (A
@) (B). (A), (D), (©)
@) (B). (D), (©), (A)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038411
Option 1 ID : 878270150945
Option 2 ID : 878270150946
Option 3 ID : 878270150947
Option 4 ID : 878270150948
Status : Answered
Chosen Option : 4
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Q.119

Match List - I with List - IL
List - I
Motivational Theory
(A) Need Hierarchy Theory (I)

(B) Two-Factor Theory (II)
(C) Expectency Theory (III)
(D) Theoryof X vsY (IV)

List - II

Proponder

Fedrick Herzberg
Abraham H. Maslow
Douglas MC Gregar
V.H. Vroom

Choose the correct answer from the options given below :

1D (A0, (B, (O, (D)-(IV)
(2 (A1), (B)-0), (O1V), (D))
(3)  (A)-(), (B)(I), (C)-(II), (D)-(IV)
@) (A)-IV), (B)(1I), (C)-(D), (D))

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038401
Option 1 ID : 878270150905
Option 2 ID : 878270150906
Option 3 ID : 878270150907
Option 4 ID : 878270150908
Status : Answered
Chosen Option : 2
Q.120 Which types of employees are included in the definition of IHRM by P. Morgan ?
(A) Host-Counbry Nationals
(B) Parent Country Nationals
(C) Third Country Nationals
(D) Domestic Country Nationals
Choose the correct answer from the options given below :
(1)  (A), (B) Only
(2)  (A), (B), (C) Only
(3)  (B), (), (D) Only
4)  (A), (B), (C), (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038343
Option 1 ID : 878270150673
Option 2 ID : 878270150674
Option 3 ID : 878270150675
Option 4 ID : 878270150676
Status : Answered
Chosen Option : 4
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(&)

(B)

©
(D)

(1)
(2
(3)
4)
Options 1. 1
2.2
3.3
4.4

Q121 pjaich List - I with List - IL

List - I
Decision Rule
Conjunctive

Disjunctive

Affect Referred
Majority vote

)
0

()
(V)

List - II

Rationale for applying the decision Rule to Down App.
“I bought the Smartphone App with the highest over

all railing”.

“1 down loaded the Smartphone App that had the

most downloads”.

“I selected the Smart Phone App that had no bad features”.
“I picked the Smart Phone App that excelled in

at least one attribute ”.

Choose the correct answer from the options given below :

(A)-(IV), (B)-(IID), (C)-(ID), (D)-(T)
(A1), (B)-(IID), (©)-(IV), (D)-(D)
(A, (B)-(IV), (C)-(1), (D)-(IT)
(A)-D), (B)-(IV), (C)-(II), (D)D)

Question Type : MCQ
Question ID : 87827038406
Option 1 ID : 878270150925
Option 2 ID : 878270150926
Option 3 ID : 878270150927
Option 4 ID : 878270150928
Status : Answered
Chosen Option : 3

0]
()
@)
4)
Options 1. 1
2.2
3.3

4.4

Rs. 60,000
Rs. 90,000
Rs. 1,50,000
Rs. 2,10,000

Q122 i Cyrrent Ratio = 25, Liquid Ratio = 15, Working Capital = Rs. 90,000. What is the value of
Inventory ?

Question Type :
: 87827038349

: 878270150697
: 878270150698
Option 3D :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status
Chosen Option

McaQ

878270150699

: 878270150700
: Answered
:3
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Q.123

(A)

(B)
(©)

(D)

)

2)

()

(4)
Options 1. 1
2.2

3.3
4.4

Hei-1 % |1 Ge-11 1 e e |

Tt Teit-11
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YTk 5 A9 (Iy O - 41%
garE frorea st I
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3= A1 9 qUl WEi 1 e (1) e fiam
F gifaa e S8 = (1) =R e
T AR SRl R il w

IIGA 3= %] F IeaRA

= gl it T

forarer a1 Tt S fFRE (1v)  Toroar fam
Y GRT SEg] = iRl

A feu Ty foreredi § & W@ 30ge STl T HITT ;

(AT, (B)(I1), (C)-(1V), (D)-()
(A)-(IIL), (B)-(ID), (C)-(I), (D)-(IV)
(A)-(1D), (B)-(IV), (C)-(), (D)-(LH)
(A)-(11), (B)-(1D), (©)-(1), (D)-(1V)

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

MCQ
87827038407
878270150929
878270150930
878270150931
878270150932
Answered

4
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(1) SeEIaE
(2) S
(3) /A
(4) ferskaan
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038358
Option 1 ID : 878270150733
Option 2 ID : 878270150734
Option 3 ID : 878270150735
Option 4 ID : 878270150736
Status : Answered
Chosen Option : 3
Q125 ywyich of the following are assumption of Net Operating Income Approach of Capital Structure ?
(A) There is no Corporate Tax
(B) Cost of debt remain constant at all level
(C) The Business risk remain constant every level of debt and equity mix
(D) The cost of Debt is less than cost of equity
(E) Overall cost of Capital remain constant
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only
(2)  (A) and (B) only
(3)  (©), (D) and (E) only
(4)  (A),(B), (Q) and (E) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038383
Option 1 ID : 878270150833
Option 2 ID : 878270150834
Option 3 ID : 878270150835
Option 4 ID : 878270150836
Status : Answered
Chosen Option : 3
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Q126 The Parenting Fit Matrix related to Strategy Formulation was proposed by -
(1) T.L Wheelan, T D Hunger & K Ranganjan
(2) M. Alexander, A Cambell & M Goold
(3) G.D. Harrell, R.O Kieper & A Cambell
(4) G Hammel, L. Segel & A C Inkpen

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038357
Option 1 ID : 878270150729
Option 2 ID : 878270150730
Option 3 ID : 878270150731
Option 4 ID : 878270150732
Status : Answered
Chosen Option : 2
Q127 16 Wocation focus for service firms should be on determining the volume of Customers and Revenue.
The major determinants of volume of Customers and Revenue are :
(A) Service and image compatibility with demographics of the customer drawing area.
(B) Proximity to raw materials and suppliers.
(C) Quality of the competion.
(D) Uniqueness of the firm's and competitor’s location.
(E) Operating Policies of the competitor
Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (C), (D) and (E) Only
(3) (A, (C) and (D) Only
(4)  (B), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038391
Option 1 ID : 878270150865
Option 2 ID : 878270150866
Option 3 ID : 878270150867
Option 4 ID : 878270150868
Status : Answered
Chosen Option : 1
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Q128 550 Summit (2023) Proposed which Economic corridor including shipping and rail lines ?

(1) IMEE (India Middle East Europe Economic Corridor)
(2) BRI (Bolt and Road Initiative)
(3) CMREC (China Mongolia Russia Economic Corridor)
(4) NELB (New Eurasian Land Bridge (Corridor))

Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 87827038370
Option 1 ID : 878270150781
Option 2 ID : 878270150782
Option 3 ID : 878270150783
Option 4 ID : 878270150784

Status : Answered
Chosen Option : 1

Q.129 Consumers who are open to new ideas and are among the first to try new products, services or
practices are called as -

(1) Dogmatic

(2) Laggards

(3) Innovators

(4) Early Majority
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038359
Option 1 ID : 878270150737
Option 2 ID : 878270150738
Option 3 ID : 878270150739
Option 4 ID : 878270150740

Status : Answered
Chosen Option : 4
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(L) (AHIV), (B)-(I), (CHID), (D)-(1)
(@) (A1), (B)-(IV), (CHLD, (D))
(B) (A1), (BHIV), (O, (D)}-(ID)
@) (A)-{D), (B)-(I), (O)-(IM), (D)-(IV)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038404
Option 1 ID : 878270150917
Option 2 ID : 878270150918
Option 3 ID : 878270150919
Option 4 ID : 878270150920
Status : Answered
Chosen Option : 3
Q.131 The primary difference between CPM and PERT is that :
(1) PERT has one time estimate and CPM has three time estimates.
(2) PERT has two time estimates and CPM has three time estimates.
(3) PERT has three time estimates and CPM requires only one time factor for each activity.
(4) PERT makes the assumption that activities time are known with certainty and CPM employs
three time estimates to compute expected values.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038364
Option 1 ID : 878270150757
Option 2 ID : 878270150758
Option 3 ID : 878270150759
Option 4 ID : 878270150760
Status : Answered
Chosen Option : 4
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Q132 gk List - I with List - IL

List - I

Employers Attitude
(A) My Boat Attitude (I
(B) Shared Boat Attitude (1)
(C) Our Boat Attitude (III)
(D) Your Boat Attitude (IV)

(1) (AW(D, (B)-(L), (O)-(I), (D)-(IV)
(3) (AW, (B)-(1D, (©)-0), (D)-IV)
(3)  (AHIY), (B, (O)-(1D), (D)-(I)
(4)  (A)-ID), (B)-(LL), (©)-(V), (D)-(I)
Options 1. 1

2.2

3.3

4.4

List - I

Appropriate Meaning

Get off, if you do not like it.

It is our own common enterprise, Let us combine

our efforts to better it.

We Sail together. Do not rock the boat.

With a sense of ownership and pride, the purpose is to
let employees whole heartedly contribute to the cause of
the enterprise.

Choose the carrect answer from the options given below :

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
87827038402
878270150909
878270150910
878270150911
878270150912
Answered

1
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s Arrange the steps of process of learning in proper order :

(A) Acquiring Knowledge
(B) Internalization of new knowledge
(C) Using leaming on all situation
(D) Assimilation or retention
(E) Application of new learning
(F)  Selt-monitored learning
Choose the correct answer from the options given below :
(D (A), (D), (B), (E), (O), (F)
2 (A, (B), (), (D), (E), (F)
@) (A), (Q) (B), (D), (E), (F)
4 (B), (D), (E), (©), (A), (E)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038410
Option 1 ID : 878270150941
Option 2 ID : 878270150942
Option 3 ID : 878270150943
Option 4 ID : 878270150944

Status : Answered

Chosen Option : 4

Q134 \which of the following Industry 4.0 technologies shall detect temperature, humidity and vibration
changes, enabling avoidance of system malfunction and human protection in Oil and Gas
Industry ?

(1)  Artificial Intelligence (AI)
(2) Internet of Things (IOT)
(3) Big Data

(4) Machine Learning (ML)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038367
Option 1 ID : 878270150769
Option 2 ID : 878270150770
Option 3 ID : 878270150771
Option 4 ID : 878270150772

Status : Answered

Chosen Option : 2
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Q.135 ‘Creating a seamless cross-channel buying experience that integrates in-stone, online, and maobile
shopping.
The above is the description of which of the following ?
(A) In store Marketing
(B) Direct Marketing
(C) Omni Channel Retailing
(D) Online Marketing
(E) Digital Marketing
Choose the correct answer from the options given below :
(1) (D) Only
(2)  (©) Only
(3) (A) and (B) Only
(4) (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038390
Option 1 ID : 878270150861
Option 2 ID : 878270150862
Option 3 ID : 878270150863
Option 4 ID : 878270150864
Status : Answered
Chosen Option : 3
Q.136 ; ; : ; v .
Co-operative credit system in India mainly consists of :
(A) the short-term agricultural credit institutions.
(B) the long term agricultural credit institutions.
(C) the non-agricultural credit co-operatives.
(D) the short term industrial credit institutions.
Choose the correct answer from the options given below :
(1) (A), (B) Only
(2) (A), (B) and (C) Only
(3) (B), (C) and (D) Only
4) (A), (C) and (D) Dnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038397
Option 1 ID : 878270150889
Option 2 ID : 878270150890
Option 3 ID : 878270150891
Option 4 ID : 878270150892
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/17025494843849831/...

74/86



1/3/24, 9:30 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S15D67798/1702549484...

Q.137 What is the minimum prescribed net profit threshold for Companies to be required to undertake
Corporate Social Responsibility activities under clause 135 of the Companies Act, 2013 ?
(1) 1% of net profit
(2) 2% of net profit
(3) 3% of net profit
(4) 5% of net profit

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038338
Option 1 ID : 878270150653
Option 2 ID : 878270150654
Option 3 ID : 878270150655
Option 4 ID : 878270150656
Status : Answered
Chosen Option : 2
Q138 pe objective of Scheduling is to allocate and prioritize demand to available facilities, the Scheduling
decisions ranges from years to minutes/hours/days. Arrange the following Scheduling
decisions :
(A) Aggregate Planning
(B) Short-term Scheduling
(C) Master Schedule
(D) Capacity Planning
Choose the correct answer from the options given below :
(1) (B, (A) (C), (D) Only
(2 @) (A), (©), (B) Only
3) (A), (D), (Q), (B) Only
@ (B, (O (A), (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038418
Option 1 ID : 878270150973
Option 2 ID : 878270150974
Option 3 ID : 878270150975
Option 4 ID : 878270150976
Status : Answered
Chosen Option : 2
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Q.139

(1) (A) and (D) Only
(2) (A)and (C) Only
(3) (C) and (D) Only
(4) (A) and (E) Only

Which of the following are unique features of services ?

(A) Services are non-perishable.

(B) Services have inseparability of production and consumption.
(C) Services have the quality of perfect standardization.

(D) Services have the characteristic of Variability.

(E) Services are highly tangible so can be touched.

Choose the correct answer from the options given below :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038388
Option 1 ID : 878270150853
Option 2 ID : 878270150854
Option 3 ID : 878270150855
Option 4 ID : 878270150856
Status : Answered
Chosen Option : 3
Q140 52y 4 o g o 3 -
FHUT (1) : AT AFEEET F QAT T TG Hsr 1 Tufe e e % =9 § g
e & 1 3 wiferes for gelemn = geigAA wffea & o e & e Fi gt
=T witfeE feet €1
A (1) : FAHH S A sjfererreey i gafgam s sfaes & Hueme § amfea amra: amafas
415 & T ® & fafaa e % off= #1 dgwm T8 faan smam |
T FY ok T H, 7 foy T fakedi § § Wl SUEe SHE o 99 i ;
(1) e (1) SR ese (1) S |5 &
(2) e (1) SiREeR (1) SHi e §
(3) WA (I) W ¥, WA e (1D) e &
(4) TR (1) Terd &, A e (1) 1 ¥
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827038420
Option 1 ID : 878270150981
Option 2 ID : 878270150982
Option 3 ID : 878270150983
Option 4 ID : 878270150984
Status : Answered
Chosen Option : 3
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Comprehension:

Read the following passage carefully, and answer question.

In this modern digitalized world, business are required to be mindful both in terms of what
they are doing and how they are doing it. The company’s brand is not just dependent on the
quality of products they are offering to people but on the overall impact of the company’s operations
on the society, environment and the economy.

Their sense of social responsibility provides them with a competitive edge over their
competitors in a crowded marketplace. CSR is a holistic and integrated management concept
whereby companies integrate their social and environmental objectives with their business objectives.
It companies integrate their social and environmental objectives with their business objectives. It
works on a Triple Bottom Line Approach i.e. Company focuses on 3P's; People, Planet and Profit
while addressing all the expectations of its stakeholders. The majority of policy initiatives in the
country are driven by the objectives of equal opportunities, minimizing poverty and human
deprivation, focus on fundamental rights, etc. thereby leading to strong human development.

The choices that we make today will be going to affect and influence our future generations.
Despite all this, inequality and disparity still exists. This year, the Indian Governmentimplemented
new CSR guidelines. These guidelines require Indian companies to spend 2 percent of their net
profit net profit on CSR. India is the first country in the world to make CSR mandatory. Including
the CSR mandate in Companies Act, 2013, is a great step of engaging the corporate sector in the
equitable development of the country. Earlier companies were required to spend 2 percent of the
profits towards CSR and in case of failure to do so; they were required to give reasons. But as per
the present amendment, companies are required to spent 2 percent of profit towards CSR in the
given time limit or are required to turn over this amount of profits in the funds which are run by
the government.

The new amendment will require all the companies which qualify the provisions under CSR
guidelines to spend the specified part of their profits towards Corporate Social Responsibility without
failing.

SubQuestion No : 141

Q.141 What is the "Triple Bottom Line Approach’ in CS5R as mentioned in the passage ?

(1) Focus on customer satisfaction, revenue and profit.

(2) Focus on people, planed and profit.

{3) Focus on shareholder’s interest, environmental sustainability and innovation.
(4) Focus on reducing costs, increasing production and market share.

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 2 ID :

Option 3 ID :

Option 4 ID :

Status :

Chosen Option :

MCQ
87827038428
878270151009
878270151010
878270151011
878270151012
Answered

2
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Comprehension:

Frerferfiae ey i1 waa g ufen ot wy w1 IR difem)

g fefoeeida-=n § = § g9 o 9Igd Wow 161 & aTawEsd & R s w € an
FHFLEE | FU B T 9 3 W TR T € S i B uesg 3o S9eTs R TE § O
T, i S et WS & G/ = % T yee ugd #

FAF WIHITSh SRl e o1 1Y AR €9E o Vg § 3 Fioeareal o e aany/ae gfaeTEion
T W F E | T U AR UF WY S hfEd Yeue WeReuA1 © el Shufar a7 SR I5evdl o 9y
HETTe S qETeRi STETEl 1 G A €1 A o TN T SUTH 9 b Al § et e
19 quenfeE =5 wef simerianell |, et o ey W e e $fga R €1 gw H stfeiy e
TS/ AT TS ST, TS, W g S AR AHER S 3 Seevdal § Heie § foed
T AE e 1w et €

T g0 ToreRt =/ e € 9 AN e difedl i i i wwifad w1 g Wk wreee, s1ef ot
a1 IR fade faemm &1 59 9d yra geEr A qu oy o fenfrdy wifen feuy o faenfe
% STTER RO i ¥ 5 U R W g o o 2 Yiae S F N oTian 1 wWa g @ veen
o 3o % et W ww AR = i e € sl sl 2013 # O @ o afeRe 39 % gwame
ferermar ¥ S1GTe &151 o1 Her=a Fg 92 heH § | 3% Yeel il ¥ W T ST H e @ 2 Wiave drEH
T HT aTaT off ST TH 7 FTH W IR FRO T F AR FET TS S G H s e o 2
wiaere H uH W H g O R e € AW S A oy 59 Ui o weEr g "o fafy # s
wFa ¥

U HeieE § Ot R % fewfEw & ofaa o ol weeei s s s siterd ' g
TN WA ITRETTE % T a9+ oy = fafire s =53 & T

SubQuestion No : 142

Q142 U HIEA F AR O UH N A T 210t S g0 w1 H SEd T 1 uiom @ 2
(1) st 3feaq S weqd i T € |
(2) FufTai TR § =2 HiT Tkl 2
(3) ATl T weEn U | I s N T €
(4) wafEl & geEr gefera fafsr & oy T 2 7 e i Sl 2
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827038430
878270151017
878270151018
878270151019
878270151020
Answered

4
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Comprehension:

Frerferfia ey 1 Aae g ufen ot uy % IR difem)

g fefoeeida-=n § = § g9 o 9Igd Wow 161 & aTawEsd & R s w € an
FHFEE FN B S A 3| W TR T T S e ey Seg 9T R T § R
T, i S et WS & G/ = % T yee ugd #

I WIHITSh SRl e o1 WY AR €E % Wig § I Wioreareal o e aany/ae gfaeTHion
T TS FI § | H T SR T A SR Gl W6 Yol § el i o7 AR SeevAl % 91
HETTe S qETeRi STETEl 1 G A €1 A o TN T SUTH 9 b Al § et e
19 quenfeE =5 wef simesianell dm, et o ey W ere e $fga A ¥ gw H sifeiy e
TS/ AT TS SR, TS, WA Y S AR AR S 3 Seevdal § Heien § foed
T AE e 1w et €

AT BW ToreRt =/ = € 9 AN W difedl i 3 i wwifaa w1 g ek wreeE, st ot
a1 IR fade faemm &1 59 9d yra geEr A qu oy o fenfrdy wifen feuy o faenfe
% STTER YRAE i ¥ H U R W g o o 2 Yiae S F H oTian B e g @ veen
o 2o & et W ww AR = i s €1 el sl 2013 # o @ o afeRe 39 % awame
ferermar ¥ S1GTe &151 o1 Her=a Fg 92 heH § | 3% Yeel il ¥ W T ST H e @ 2 Wiave drEH
A FH STaT off ST TH 7 FH W IR FR TAE F FTEN FET B ST WA G H S0 w0 2
wiaere H uH W H g O R e € AW S A oy 59 Ui o weEr g "o fafy # s
wFa ¥

U HeieE § H o % fewfEw & el o arel wEeHi i s s siferd ' 9
TN WA ITRETTE % T a9+ oy = fafire s =53 & T

SubQuestion No : 143

Q143 TR T SER MYfAF fesiecisa g ® ol & Qs Swede #1 1 e € 7
(1) 9 91 o g T HE JUE T ILa
(2) I® IR T IOEE W guia: R e #
(3) ¥ aNIR *1 site § ufaeruiones e T #r g
(4) TOY S=RR AN 9IS S
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

MCcQ
87827038427
878270151005
878270151006
878270151007
878270151008
Answered

3
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Comprehension:

Frerferfia ey 1 Aae g ufen ot uy % IR difem)

g fefoeeida-=n § = § g9 o 9Igd Wow 161 & aTawEsd & R s w € an
FHFEE FN B S A 3| W TR T T S e ey Seg 9T R T § R
T, i S et WS & G/ = % T yee ugd #

ST HIHITSTh SRl e o1 WY AR € % Wig H 3T HiaeaiiEl o | wenyde gfaeraien
T TS FI § | H T SR T A SR Gl W6 Yol § el i o7 AR SeevAl % 91
HETTe S qETeRi STETEl 1 G A €1 A o TN T SUTH 9 b Al § et e
19 quenfeE =5 wef simesianell dm, et o ey W ere e $fga A ¥ gw H sifeiy e
TS/ TS SR, T, W SYeE o AR AHeIeR St 3 Seevdl § dee € ol
T AE e 1w et €

AT BW ToreRt =/ = € 9 AN W difedl i 3 i wwifaa w1 g ek wreeE, st ot
a1 IR fade faemm &1 59 9d yra geEr A qu oy o fenfrdy wifen feuy o faenfe
% STTER YRAE i ¥ H U R W g o o 2 Yiae S F H oTian B e g @ veen
o 2o & et W ww AR = i s €1 el sl 2013 # o @ o afeRe 39 % awame
ferermar ¥ S1GTe &151 o1 Her=a Fg 92 heH § | 3% Yeel il ¥ W T ST H e @ 2 Wiave drEH
FIA F STaT off ST TH 7 FH W IR FR TG F SN FET TS G G H S o o 2
wiaere H uH W H g O R e € AW S A oy 59 Ui o weEr g "o fafy # s
wFa ¥

U HeieE § H o % fewfEw & el o arel wEeHi i s s siferd ' 9
TN WA ITRETTE % T a9+ oy = fafire s =53 & T

SubQuestion No : 144

Q144 53 3 o feg &

we (1) :  H U oI ey SR wifehd gae Hereae & o sl et efieifirer siiv i segwi
wfea S IRETE A WA FEA B

we (11) : 39 snyfer fesiea sfan o =amrl § o ot sga 990 @A %1 e & 5 3 fn s w
¥ o W@ R

IR A W S 1, A fau T fawedi § § wad SuEe ST H 99 Fie

(1) e (1) 3R e (I1) 2H1 o &

(2) e (1) AR (11) EHI Tew §

(3) THeF () & ¥, wifeh el (1) e &

(4) A (I) TTET ¥, Wi e (1) WE

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 3 ID :

Option 4 ID :

Status :

Chosen Option :

MCQ
87827038426
878270151001
878270151002
878270151003
878270151004
Answered

1
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Comprehension:

Frerferfia ey 1 Aae g ufen ot uy % IR difem)

g fefoeeida-=n § = § g9 o 9Igd Wow 161 & aTawEsd & R s w € an
FHFEE FN B S A 3| W TR T T S e ey Seg 9T R T § R
T, i S et WS & G/ = % T yee ugd #

ST HIHITSTh SRl e o1 WY AR € % Wig H 3T HiaeaiiEl o | wenyde gfaeraien
T TS FI § | H T SR T A SR Gl W6 Yol § el i o7 AR SeevAl % 91
HETTe S qETeRi STETEl 1 G A €1 A o TN T SUTH 9 b Al § et e
19 quenfeE =5 wef simesianell dm, et o ey W ere e $fga A ¥ gw H sifeiy e
TS/ TS SR, T, W SYeE o AR AHeIeR St 3 Seevdl § dee € ol
T AE e 1w et €

AT BW ToreRt =/ = € 9 AN W difedl i 3 i wwifaa w1 g ek wreeE, st ot
a1 IR fade faemm &1 59 9d yra geEr A qu oy o fenfrdy wifen feuy o faenfe
% STTER YRAE i ¥ H U R W g o o 2 Yiae S F H oTian B e g @ veen
o 2o & et W ww AR = i s €1 el sl 2013 # o @ o afeRe 39 % awame
ferermar ¥ S1GTe &151 o1 Her=a Fg 92 heH § | 3% Yeel il ¥ W T ST H e @ 2 Wiave drEH
FIA F STaT off ST TH 7 FH W IR FR TG F SN FET TS G G H S o o 2
wiaere H uH W H g O R e € AW S A oy 59 Ui o weEr g "o fafy # s
wFa ¥

U HeieE § H o % fewfEw & el o arel wEeHi i s s siferd ' 9
TN WA ITRETTE % T a9+ oy = fafire s =53 & T

SubQuestion No : 145
Q145 s &y wpor e e ¥+ e arfiremeR (Assertion A) % w9 # forfiaa & o 60 SHF FNT (Reason R) &

= H

frRer (A) :  FOfET & WeT TEEEE § H UW ST qi @ 1 2% I S O B ST0E A A
2

HITOT (R) : R N ot efufram 2013 § o um oW F fen #E8R gEye s €

IR A A H, A fau e fasetdi § § waw Suge ST F 99 e
(1) (A) =R (R) I wE F =T (R), (A) FI | =0T 7

(20 (A) R (R) S TE E A(R), (A) F TE SN T B

(3) (A) T € Al (R) T T E

@) (A) T T EwlE () T E

—

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 3 ID :

Option 4 ID :

Status :

Chosen Option :

MCQ
87827038429
878270151013
878270151014
878270151015
878270151016
Answered

1
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Comprehension:

Frfafam e w1 wEuart gdew i oin we w1 e S

Tt et # frfea s o w9 fotg @ 5 ufEen o e st frenfaty = awem @
e & afit 7re 21 s € for sevaifam i e | e $o vea vee SfveRiEl & sfaaTa THe SR
ATHT T A FHiwd F F oo 94 faee (3fe) iR faem W o1m g S0 | 99 F T 91 T
H famfere weomrgs & ol o AR w9 H o6 g e §

TR B (STl ) SiR ey iRt i s steenferr e | W Wkl | dfe fasig une
 fere & <l =ifal 7 €1 Tt ot = oo fanita Temes, eemA oiR werefer it o
I YR TR €

Trrmifire wemem % fagr=l 3 ST @ g wrEwn et a1 feees g 7o 8 arfaen Hifar
FrReERl @1 fau Ty aretier WA eeRR ST O P W g S ¥ aw v &
Teroars ST S8 wrrih QR

IUANHE FRATEA % fa g8 Terarst ot wawE ) yesti SR H & uhe weR ¥1 I8 off e
Sar & for g ot e SereTS o=l 1 @ T e weRdl | ffna e U e daiten
RN ¥ 1 W O AT e SRR Wi S o weRdl § el sAf W W ot o anfem

Tefn s &1
SubQuestion No : 146
e frefafaa § 9 €9, 39 T F orER, e gemes &1 @y 82
(1) fAgwrRi oir €z.3i o1 facr sty miafasi 6t gumn )
(2) =AfaaTd o7 @9 6 gdicated T |
(3) Trawri % favam iR SFF Wy Tre i G|
(4) fqEfTa ¥ =)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038436
Option 1 ID : 878270151037
Option 2 ID : 878270151038
Option 3 ID : 878270151039
Option 4 ID : 878270151040

Status : Answered

Chosen Option : 3
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Comprehension:

Frfafam e w1 wEuart gdew i oin we w1 e S

Tt et # frfea s o w9 fotg @ 5 ufEen o e st frenfaty = awem @
S € Si e fra 2 S & o saeifae e e e s e siftreiEl & sfaad vHe e
ATHT T A FHiwd F F oo 94 faee (3fe) iR faem W o1m g S0 | 99 F T 91 T
H famfere weomrgs & ol o AR w9 H o6 g e §

TRENTE BT (SRR ) ST EY guiE g S TR e | 01 Wk § ife feita wme
 fere & <l =ifal 7 €1 Tt ot = oo fanita Temes, eemA oiR werefer it o
I YR TR €

Trrmifire wemem % fagr=l 3 ST @ g wrEwn et a1 feees g 7o 8 arfaen Hifar
FrReERl @1 fau Ty aretier WA eeRR ST O P W g S ¥ aw v &
feroars STR S8 T guR g

IUANHE FRATEA % fa g8 Terarst ot wawE ) yesti SR H & uhe weR ¥1 I8 off e
Sar & for g ot e SereTS o=l 1 @ T e weRdl | ffna e U e daiten
RN ¥ 1 W O AT e SRR Wi S o weRdl § el sAf W W ot o anfem
Tefn s &1

SubQuestion No : 147

e eI % STER, e weree % sTues 9 feare S e ey €2
(1) A9 hlfersr 19
(2) T=d fafeg foaea o favarg
(3) ai N FE al
(4) PR Frad gl it Farand
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038433
Option 1ID : 878270151025
Option 2 ID : 878270151026
Option 3 ID : 878270151027
Option 4 ID : 878270151028
Status : Answered
Chosen Option : 3
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Comprehension:

Frfafam e w1 wEuart gdew i oin we w1 e S

Tt et # frfea s o w9 fotg @ 5 ufEen o e st frenfaty = awem @
e & afit 7re 21 s € for sevaifam i e | e $o vea vee SfveRiEl & sfaaTa THe SR
ATHT T A FHiwd F F oo 94 faee (3fe) iR faem W o1m g S0 | 99 F T 91 T
H famfere weomrgs & ol o AR w9 H o6 g e §

TR B (STl ) SiR ey iRt i s steenferr e | W Wkl | dfe fasig une
 fere & <l =ifal 7 €1 Tt ot = oo fanita Temes, eemA oiR werefer it o
I YR TR €

Trrmifire wemem % fagr=l 3 ST @ g wrEwn et a1 feees g 7o 8 arfaen Hifar
FrReERl @1 fau Ty aretier WA eeRR ST O P W g S ¥ aw v &
Teroars ST S8 wrrih QR

IUANHE FRATEA % fa g8 Terarst ot wawE ) yesti SR H & uhe weR ¥1 I8 off e
Sar & for g ot e SereTS o=l 1 @ T e weRdl | ffna e U e daiten
RN ¥ 1 W O AT e SRR Wi S o weRdl § el sAf W W ot o anfem

Tefn s &1
SubQuestion No : 148
e fopeft st ¥ Fmifore womea = TR R o mfieR w6 R 2
(1) 379 wIfcTeh] T kI SATHRTH FHEAT |
(2) =9 A F AlFT qH=i AN AIE=] W gddred |
(3) Taofg o H syaen iR frarfafy @
(4) @S H fEETTaT <l =gren < |
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827038432
Option 1 ID : 878270151021
Option 2 ID : 878270151022
Option 3 ID : 878270151023
Option 4 ID : 878270151024

Status : Answered

Chosen Option : 3
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Comprehension:

Frfafam e w1 wEuart gdew i oin we w1 e S

Tt et # frfea s o w9 fotg @ 5 ufEen o e st frenfaty = awem @
e & afit 7re 21 s € for sevaifam i e | e $o vea vee SfveRiEl & sfaaTa THe SR
ATHT T A FHiwd F F oo 94 faee (3fe) iR faem W o1m g S0 | 99 F T 91 T
H famfere weomrgs & ol o AR w9 H o6 g e §

TR B (STl ) SiR ey iRt i s steenferr e | W Wkl | dfe fasig une
 fere & <l =ifal 7 €1 Tt ot = oo fanita Temes, eemA oiR werefer it o
I YR TR €

Trrmifire wemem % fagr=l 3 ST @ g wrEwn et a1 feees g 7o 8 arfaen Hifar
FrReERl @1 fau Ty aretier WA eeRR ST O P W g S ¥ aw v &
Teroars ST S8 wrrih QR

IUANHE FRATEA % fa g8 Terarst ot wawE ) yesti SR H & uhe weR ¥1 I8 off e
Sar & for g ot e SereTS o=l 1 @ T e weRdl | ffna e U e daiten
RN ¥ 1 W O AT e SRR Wi S o weRdl § el sAf W W ot o anfem
Tefn s &1

SubQuestion No : 149

W o reen % w0 # i o ) e i R aft o E

(1) T9F & drel Afer JHTe |

(2) SETETS o SMEH 1 YA e |

(3) FS FHEA F GG T Goll dlshaiiash Haee |

(4)  STrerETst sk nfafafet s v gfaed gHr HE F A e |
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827038435
Option 1 ID : 878270151033
Option 2 ID : 878270151034
Option 3 ID : 878270151035
Option 4 ID : 878270151036

Status : Answered

Chosen Option : 3
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Comprehension:

Frfafam e w1 wEuart gdew i oin we w1 e S

Tt et # frfea s o w9 fotg @ 5 ufEen o e st frenfaty = awem @
S € Si e fra 2 S & o saeifae e e e s e siftreiEl & sfaad vHe e
ATHT T A FHiwd F F oo 94 faee (3fe) iR faem W o1m g S0 | 99 F T 91 T
H famfere weomrgs & ol o AR w9 H o6 g e §

TRENTE BT (SRR ) ST EY guiE g S TR e | 01 Wk § ife feita wme
 fere & <l =ifal 7 €1 Tt ot = oo fanita Temes, eemA oiR werefer it o
I YR TR €

Trrmifire wemem % fagr=l 3 ST @ g wrEwn et a1 feees g 7o 8 arfaen Hifar
FrReERl @1 fau Ty aretier WA eeRR ST O P W g S ¥ aw v &
feroars STR S8 T guR g

IUANHE FRATEA % fa g8 Terarst ot wawE ) yesti SR H & uhe weR ¥1 I8 off e
Sar & for g ot e SereTS o=l 1 @ T e weRdl | ffna e U e daiten
RN ¥ 1 W O AT e SRR Wi S o weRdl § el sAf W W ot o anfem
Tefn s &1

SubQuestion No : 150

Q150 fopit sl ¥ svfaer Hifedl o FueeeA 1 SR R W AT wemes 9 gerr e €2
(1) T R (TET) S H Qe S|
(2) THHEE FT SeAEERT TP |
(3) SWaIawE! 1 o w0 o We w1 Hfed |
(4) ©HENTE SO (STl R ieHifed T |

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

McQ
87827038434
878270151029
878270151030
878270151031
878270151032
Answered
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